PART - | / 9T - |
GENERAL AWARENESS | AT AR Dl -
Fired A A ey 7 fufen 73 (qzomem)

]

1.  Johann Gutenberg developed the first-known I 1. 2ol fuar— e il
printing press in Germany. Which was the ] SHAl @; I_ml [n“ eﬁ? g I Feed]
first book he published in that press ? ' RAEd : '

=
(1) The Republic I' (1) = fofer
(2) The Bible ! (2) T @A
(3) The Odyssey || 3) © sffeyn
(4) The Magna Carta ' (4) =TI Frel

2.  What do we call the process through which % 2. 39 WHH H A m Skl %’fﬁf{ﬁ;mwﬂ 4 S
bacterial and fungal enzymes degrade | AT FaE & Q'Gﬂ?ﬂ HILS ‘TF[ Al T1A
detritus into simpler inorganic substances ? TR Tl § 3fashiad F:4 T 7

+{1) Catabolism (1) &9=d
(2) Humification 2) W?rq—,{
(3) Fragmentation (3) @EvEA

(4) Leaching (4) TFAameE

3. Students” and  Teachers’ Holistic

|
|
} 3. TG foren 3 wrem @ farenfeiE siv st

Advancement through Quality Education &1 |a wfd (wdE) 2l

(SARTHAQ) is an

(1) Indicative and suggestive NEP (1) s foren & o gt foren +ifa ==
implementation plan for Higher I 1 TS SR Feas
Education I

~ (2) Indicative and suggestive NEPI (2) e e < fou o fonen =ifs wrat=em

implementation plan for School o1 &1 w3 e
Education

(3) Indicative and suggestive NEP

(3) AR Ten & fou wwty fwen ifa

implementation plan for Technical

FEETA A5 W iR fregs

Education

implementation plan for Legal mﬁmﬁmw@waﬂ‘nﬁm

Education

|
|
|
(4) Indicative and suggestive NEP l (4) fafus foian & fem =™ Toen <ifq
|
|

EZEE
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Which team won the 2023 Women T20 World

4, Accordin :
8§ to the National Fducat; 4 5 _
2020, by which o tt)]n 1l Education Policy 4. Wt foan Aifa 2020 % smm, 3 oA
’ L7 s vmes O % o
Ratio in highor wy oSS Enrolment | oermt: foven afen sw fown § meet i
ot ghe r. Education im‘ludinp‘ | 61 391 50% TF T M F AT B 7
ational education is 1o be increased o |
50% ? \
(1) 204 |
=040 : (1) 2040
2
(2) 2035 1| (2) 2035
(3) 2050 l (3) 2050
(4) 2030 | (4) 2030
|
H
|
|
5. ‘

5. 4 2023 H syrEfsa wfeen a1 51 A-20 fava

Cup ? %4 1 fasia 4w #m = 32
(1)  Australia (1) e

(2) England (2) TS

(3) South Africa (3) =i sTmi

(4) India @) W

'ﬁil?ﬂ[',‘fm', 'W';mﬁﬁmm-

of which of the following ? AT AW T ?

(1) Open-cast mining

(1) foaga @

(2) Earthquake waves

(2) Y I TR

" (3) Rain water harvesting

|
!
l
!
l
|
|
l
!
|
!
I
|

6. ‘Milpa’, ‘Roca’, ‘Ladang’ are different names | 6.

|
|
|
!
|
1
|l (3) 99 <& HuEA
|
1

(4)  Shifting cultivation (4) AR Hfw

[Ok=:10]
PGT-PHY-2023 %% 3 R2



7 AT 2022 1 Aifea w1 amy gy g 1

7. Who was awarded the Sahitva Akademi
Bhasha Samman 2022 2 I A

(1) Chungkhan Yashawanta Singh (1) mEr o e

(2)  Shashi Nath i (2)  uifor 14

(3)  Uday Nath Jha (3) 3Fm=AT4HE

(4)  Krishna Bhattacharya (4) Fom g
{
!
8. fusga (A) :

8. Assertion (A) :

Both India and the USA have bicameral | U 37 H{.10. 279t 2 g fgaeama faurAg==

legislature. ] 2
|
Reason (R) : ; &HTOT (R) :
~ The upper house of the legislature in both the | a1 21 F fAaurHEa & 39 929 § 39 A9
countries has an equal number of secals | T & feru srfuq Hiel 1 9= TF FUE B |
reserved for different slales. |
5
Choose the correct answer from the codes ; A4 fau o Fz 5 A |l 3w g
below : I
!
(1)  Both (A) and (R) are correcl | (1) (A) 3 (R) <1 Tt €1
|
(2)  Neither (A) nor (R) is correct ,' (2) A4 (A) TME(R) TE B
|
\/(Zﬂ (A) is correct but (R) is wrong | (3) (A) T ¥ &g (R) Tera &1
|
, | . -
(4) (A) is wrong but (R) is correct | 4) (A) o™ ?‘fm’ﬁ (R) H&1 2|

E%Eﬁ
PGT-PHY-2023 &* 4 R2



10.

Assertion (A) :

As part of the major reforms to Union |

Budget, the date of budget was advanced to |

1 February for the first time from the Budget |

for Financial year 2020.

Reason (R) :

The advancement of Budget date has been |

done to enable early completion of the Budget

cycle.

Choose the correct answer from the codes !

below :

(1)
explains (A)

(2) Neither (A) nor (R) is correct

(3) (A) is correct but (R) is wrong

(4) (A) is wrong but (R) is correct

Which of the following statement(s) is/are

correct about ‘India State of the Forest

Report’ (ISFR) 7 .

(A) The first State of the Forest Report was
published in-1947.

(B) The report is based on the biennial
assessment of India’s forests carried out
by Forest Survey of India (FSI).

(C) Based on the ISFR 2021 report the total
{orest cover of the country is 21.71% of
the total geographical area of the
country.

(D) The ISFR 2021 report shows a decrease

of forest cover as compared to the
previous assessment.

Choose the correct answer using the codes

below : )

(1) Only (C) and (D) are correct

(2) Only (B) and (C) are correct

(3) Only (A), (B) and (C) are correct
(4) Only (B), (C) and (D) are correct

EEE
PGT-PHY-2023 %%‘_

Both (A) and (R) are correct and (R) |

i 10.

9.

AlUFRLA (A)

F21 492 | 942 940 fF0 7R 7 w6 1 7
A 2020 F A2 FEAAFV F THA H FEA AP
32 WA fFm 5 1 AT 1 wAn [
T2 |

<h 10T (R) ¢

fern qrTE AT A PE AEiE A E

% fau v 2 § A wE I A

(A)W(R)éﬁﬂﬁ?'ﬁﬁ(l&]ﬁm)ﬁﬁ

(1)

(2) AT (A) WA (R) T EI
(3) (A) @@ % &= (R) e T
4) (A) T € fR (R) TR 2

e T HAE T HeR fR ! (3R THUE. AN
¥ =i o feifed | 9 #9910 FUE 9l 3/ ?

(A) el We win g e f ad 1947 §
eIy g2 o |

(B) e frdi v o Tam (TH.UH.AR.)
zr e o YRdT™ 9 #1 gantie Hedis
o e 8

(C) HAETATFHR. & ad 2021 i R +
IR T 9 % el Wilfersh &7 1 21.71%
TATBIEE © |

(D) E.TE.TH.AR. 2021 F fdered o fased
Yediea &1 qer § aresiad a9 H
T T |

= feu 7o g2 H 9 W& fasen g

(1) #ea (C) R (D) el €|

(2) Had (B) R (C) FEl €

(3) A (A), (B) R (C) W €I

(4) I (B), (C) ¥ (D) & €1

R2
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PGT-PHY-2023 %ﬁ%

A

PART - Il /¥ -1l

REASONING ABILITY/

Three statements are given followed by two

conclusions 1 and Il.  Assuming the

statements o be true decide which of the

conclusions is/are definitely true.

Statements :

1. M>Q P
e

2. P=M M
Q)
3, N=M

Conclusions :
1. Q=N X
Q<P

Both conclusions 1 and 1] are true.

v 11
(1)
(2)
(3)

Neither conclusion | nor 1l is true.
Only conclusion 1 is true.

Only conclusion Il is true.

Eight friends J, K, L, M, P, Q, R and S are
sitting around a square table in such a way
that all are facing towards the centre of the
table. ‘L’ sits in the middle of the side. ‘P’ is
second to the left of ‘M. "Q)’ is exact right of
‘K’ and is sitting in the middle of the side. ‘P’
doesn’t sit with “L". "M’ sits exact right of ‘],
Two friends are sitting in between ‘M’ and
‘S". 'R’ is second to the left of ’J'. 'S’ is exact
feft of ‘L. ‘K’ is third to the left of ‘L.~

Who sits fourth to the right of 'K’ ?
(1) R

2

——— —— S — ——— i — —— o —— S\ Ao P ki i S L L S S o S — T T T S— T S —— ————— — — ——— e, . e i S—— it S, i

o
—

e
N

ad el
aﬁm’ﬂfaﬂ,m%fﬁﬁwﬂfmﬁ; A1)
feu T 7 | Fodi F1 T A 70 47 74wt
W?ﬁfﬁ"fﬁ’ﬁﬁﬁ%ﬁm/ﬁﬁﬁ"mﬂnm
2/E?

%dH :

1. M>Q

2. P=zM

3 N=M

ﬁlﬁ?ﬁ:

. Q=N

. Q<P

(1) fewd | =in 1 2F 99 €
(2) A fFerd |\ & 4w A 2 A 1)
(3) A fepd 1 93 21

(4) Faa fHed 11 73 2

@e fA4 ), K, L M, P, Q, R ¥ S U& &K
ﬁa&saﬁf:ﬂ‘nwmﬁ‘&é%ﬁmﬁ?ﬂﬁa
TS F e AR | L S F o b e gan
g1CP,M F AR SRR WA R AR 2 1Q,
‘K' % UHeH IRfT 3R ¥ @R e F 9 1 ga
NP, L F WA TE AR M, T H
THCH T AR TR | M 3R ‘S F A <) i
FTIR, ) & A S g wH W g g,
‘L' UheH ARl SR 931 1K, ‘1 A sin
HH T W e

K T SR wm W owE e

(1 R

(2) S
3) ]
@) P

R2



13.

14.

Given below is a question, followed by two | 13. ™ T 99 fez1 1 @ fore = 21 e 1
statements I and 11, each containing some | |
information. Decide which of the slalz-menls ]
is/are sufficient to answer the question,
How is Kushal related to Meenakshi ?

Statements :

(4)

Kushal is only son of Meenakshi’s
brother-in-law.

Garvita is Kushal’s only sister.

Both statements | and 11 together are
necessary to answer the question.

Both the statements | and 11 together are
not sufficient to answer the question.

The statement 1 alone is sufficienl to
answer the question while the
statement 1l alone is not sufficient.

The statement Il alone is sufficient to
answer the question while the

statement I alone is not sufficient.

Refer to the following letter sequence and

answer the question :

(Left)

12
58TMRES]CZ¥9W$1’;’DFH

G U L (Right)

Which letter is fifth to the right of the twelfth

letter fromy

our right end of the given

sequence ?

(1)
(2)
(3)
4)

B

W

R

X

EFRE
PGT-PHY-2023 gg E%

|
!
!
|
!
!
|
|
I
I
|
|
I
|
|
|
|
l
|

14.

1 feu o ¥ | fod wors | F2 SEER @ T R
72 favtg Fifso f& =1 @/3 F93 999 F:1 TN
& & feru 7ot 2/ 2

FUA 1 G A PR HAN B2

U .

I

F9, et 3 2/ ZaT F THAE T B

Tifefa, Fe 1 THATE T €|

FH9A | S F9 11 SH1 AR 999 61 3T
3 % forn revasE €

Foua | #R FYF 11 1 ot Jt 791 F
I 29 % fore waia 7 2

F9q | TS I 1 IR 24 & fog waf@
¥ wafs F99 1] 6 T FI WA F
feru gata =& €1

e [] 3TFE W F1 IW &1 & g v
3 wAfE w9 | e ¥ F IR A &
fom qafe & 2 |

frefafEd 31eTGRT 1 STaEERA 3R 99 Hl
FIW T
(ad) SBTMRESICZYOWAPDFHG
UL (=M)

ﬁuﬂqwﬁmﬁaﬁﬁn@mﬁﬁam%
LR (e e R e e s |

(1)
(2)
(3)

R2



15.

Given below is a question, followed by two

statements 1 and 11, each containing some

information. Decide which of the slatements ,

1s/are sufficient to answer the question.

Who is to the immediate right of '}’ among
RLOs ) |

five friends J, K, L, M and N, facing the
North ?

—

I1.
@
S kW
" 2)

16.

M-

‘L’ is third to the left of ‘K’ and ‘1" is

second to the right of ‘L.

'K is to the immediate left of ‘N’ who is
second to the right of J’.

Both statements | and 11 together are

l'l(‘CCSSE]r}' to answer the L]UG‘S['iOI"I.

Either statement I alone or statement 1] |

alone is sufficient to answer the
question.

The statemenl 1 alone is sufficient to

answer the question while

statement 1] alone is not sufficient.

The statement 11 alone is sufficient to |

answer the question while

stalement 1 alone is not sufficient.

‘M + Q" means ‘M’ is the wife of ‘Q’;

Q" means ‘M’ is the father of ‘'Q)’;

‘M x Q" means ‘M’ is the daughter of ‘Q’;

‘M =+ Q" means ‘M’ is the son of ‘Q".

If A+Bx]J+U—-D, how is ‘B’ related to ‘D’ ? |

Wk ‘F‘h
Sister (‘t%@ )-
Aunl \l
Mother Asm)
Brother

EzrE
PGT-PHY-2023 @g%

the !

the ¢

i
|
i
;
{
i
l
i
!
i
i
i
i
i
!
i
i
I
i
|
!
i
E
i
|
i
|
i
H
i
!
;
H
I
i
i
!
|
!
|
i
!
|
|

|
|
|
|

8

t 15.

| 16.

A e g e T B S AR e | oy
11 feq e €1 o9 5ok 6 Fo I € g
Iz frofa FifS fo 9 /9 Fom w91 &1 3
< o fore garta g/% ?

ar" fisll ), K, L, M 3R N, Sl S &1 v 4z
Fh 9 8, H W ) % TheH T AR FE g

g?

1.

11.

‘L, ‘K’ o AT SR e T R E iy
‘L’ % SR 3R O WA W B

‘K’, ‘N’ o UeheH a1 3R & 51 ) o 2t
AR T TIH W R

HYA-]1 3R FYA-11 SHI, e g9 =1
IW 2 & fou smavas 1

I Al HUA-] 3Tkl 1Al FUF-11 3THA
Y9 o1 SW e & fou gaid 2

HUA-] 3Tl WY 1 I 29 % felu gt

B Safeh FUA-1] 2% Y99 & I o9 F
fou vata =& &1
A 11, el Y99 &1 I 29 & foru gt

T Wafeh FYT-1 TS YA & IR = ¥
o g & 21

‘M+Q 1 319 & fv M, ‘Q # v &
‘M-Q = 314 & fF ‘M, 'Q = fran &
MxQ &AL EH M, ‘Q R THE:
‘M+Q H e & fof ‘M, 'Q &= T

afe A+BxJ+U-D ® @ ‘B =1 ‘D’ |/ =

LECRY
(1) e
(2) =
(3) I
(4)

R2



17 Two statements labelled as Assertion (A) and | 17, A= 21 % 120 7m0 F 50 2 afvmaa (A)

Reason (R) are given  Consider both the % (R) & &9 o Zog o R 2T 4 (R i
statements carefully 1 fram #1fqv
% Assertion (A) :© Fake news Spre ad mm world famaa (A) Cre BRI callty L L
has become a sernous vt g @4
|
problem :
., Reason (R) : The mternet is source of_all | a® (R) - r7747 OV H21 JAT 1 =HA

lake news.
Select correct answer with the help of code. ! 49 fzu 0 F2 F FEEA A qR I F A
I |

(1) (A) 1s false but (R) is true. (1) (A) T4 2 fF55 (R) 7 ?

|
I
|
I
|
| ! _
W) (A) 1s true but (R) 15 false. | {21 {.’\) P2 4 A f_';_'"_f “,“ a7
(3)  Both (A) and (R) are true and (R) is the | (3)  (A) @ (R) #F S (R). (A) 1
correct explanation of (A). 1 e AT 7|
! (4) (A) # (R) ZH A (R)(A) F
|
|

TE A T E

(4) Both (A) and (R) are true but (R) is not |
the correct explanation of (A).

18. 3 #13 FuA feu M # faaE ar @ e L
4w |1l fzu T ¥ | e f2o o Al F1RA
A 2 AT 4 G FE ae 3 s & A a
amq favin #ifau fF fau o fadl 5 ® F4
Aq/A FuE B afds =9 7 fFFam 2/87

18. Three statements are given, followed by three
conclusions numbered 1, I1 and I1l. Assuming,
the statements to be true, even if they seem !
to be at variance with commonly known
facts, decide which of the conclusions |
logically follow(s) from the statements.

hdgq
1. w e, dE @ (Efed) F

Statements :

1. All pinks are scarlets.

2. Some scarlets are blues. 2. F@ | AT
3. No blue is brown. 3. I3 Ml ATEn s e 2

Conclusions :

x L Some browns are blues. wa

1. No pink is brown.

T = A i

11, Y of Tl @ R

. @ e T (elfed) e €
(1) Faa fred | Feam 2

(2) Fae ferd 111 e 2

(3) Fae ferd | 3R 11 feem
(4) Faa e 11 & 1 fAeea 2

|
!
|
|
|
|
|
|
|
|
|
|
, et :
|
|
ll. Some scarlets are pinks. {
(1)  Only conclusion | follows. |
(2)  Only conclusion 111 follows. l
(3) Only conclusions I and 11 follow. I|
_—+4) Only conclusions I1 and 11 follow. l

&
PGT-PHY-2023 &k 9 R2
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\Jn.‘ ,eﬁ P o

19. Which of the following Venn diagr
represents the best relationship between

Teachers, Sisters, Females ?

o (LD
:'?f")
@ (©
o (@

20. Study the given diagra
answer the question.
different sections indicat

m carefully and
The numbers in
e the number of

persons.

—

Salaried k )
% 12 Married

®) w

Under 35 Years

How many ‘Under 35 ears’ people are

‘Galaried” but not ‘Married’ ?

1 12
2 13
@) 5

8

mﬁm
PGT-PHY-2023 g

am | 19.

—— -
————— e e

10

— f:ii:a;“ﬁmr'ﬂ qrra Aty 5
gmﬂﬁii{g""‘qﬁﬁm

43 fau T @ 1 AFGEE AT F1 AN
Wﬂaﬂt%ﬁfﬁﬁg‘fﬁé@m’ sfaa
=1 T 1 3fd FE

@;ﬂ;k >

8&12 «——
e

17
3594 9 A

‘35_aﬂﬁw'@ﬁaﬁaﬁm%ah*ammﬁ'a
& febg foranfe’ 7l @2

(1) 12
(2) 13
(3) 5
(4) 8

R2



21.

A statement is given followed by four | 21.

conclusions numbered 1, 11, 11 and 1V. |
Assuming the statement to be true, decide
which of the conclusions 1s/are definitely
true.

Statement: C = R>D<E =K=>7P

Conclusions :

|
!
!
!
!
|
!
1
l
|
l
|
!
!
!

w1 esp F{ £ A
> 1. K<D D—J P
v 1Il. P<E
IV. E=R
(1)  Only conclusions II and 1V are true.
(2) Only conclusion 1V is true.
(3) Only conclusions I and 1I are true. !
= (4) Only conclusions I and III are true. !
|
22. There is a family of six members D, K, L, M, 1
N and P. They are Lecturer, Artist, |
Businessman, Executive, NGO worker and i
Singer but not necessarily in the same order. |
There are two married cou_p_les. ‘N’, a |
Lecturer, is married to the Artist who i1s the |
mother of ‘L” and ‘P’. ‘P is pursuing singing,. |
‘D’ has one son and one grandson who is an |
Executive. ‘K’, the Businessman, is married |
to ‘D’. Of the two married ladies, one is a l
NGO worker. ’
Which of the following statements is true ? |
v—1) ‘M’ is the Artist. !I
(2) ‘L’ isson of ‘D’ and ‘K. ‘
(3) ‘K is the wife of ‘D", ||
(4) "M’ is the Executive. ™M |
Vv (N(uy € x(oc
QO

0}0) o
PGT-PHY-2023 é% b hin‘u,
: L

I

Levg

Do o
L1

22

k—3 O
B >

s F93 fam o 7 faaw ae ae e |
11l 2 |V fzu o & F49a F T4 6EA 7 AT
tuim #ifsv f# fzu o faadl 9 8 #19 71/3
fquam fafvsm =9 7 #7739 2/2 7

FMA:C - R>D-FE - K=>P
frewd -

. oD

. K<D

. P<E

IV. E=R

(1) Fa= fawed 11 207 IV E3 2
(2) FHaa fepd [V 73 2

(3) wad fed [ sm EE E
(4) Fad fAwd | s Es 2

FE HeHEi D, K, L, M, N 3R P ae7 U&F 9ftan
2| 3 AT, FAR, HRER, TITEF, T3]
FEd N TEE ¢ fhq 9 T w6 § w1 uE
HEYEF el ¢ | < faafed sirs ¥ ==meme N
&l WKl UF FerEr W g T A L P #
HA R P AR F UGE R @ R D F UE
T 3R UF U ® | U WS 2K U
FEH 2 e faam ‘D A gen 31 2 faarfee
AfeeAIST H | TF UASHSN wrdw 3

Freaferfan & @ %1 @ o w32
(1)
2)
()
(4)

‘M’ TF FAHR R
LD a0 K Hm g g
‘K, ‘D’ =l 9oy B 1
‘M TF GIEE T

NGo R2



and I]‘.I'\"'I"

23, Lakshmi starts from point =4
2 km Southwards to a point /" and then turns
right and travels twice thal distance Lo rea h
Y. She then turns left and travels five bimes
the distance she covered between point A
and ‘7" and reaches point ‘X', From there
she turns left and travels 4 km to reach
destination ‘B, What is the shortest distance
between the poimnts ‘A’ and ‘B and whal 15
B's direction with respect o “A" 7
(1) 8 km, North
(2) 8 km, South
L—(3) 12 km, North
(4) 12 km, South
\o
b |
24, Seven children K, L, P, R, T, X and Y are

sitting on a straight bench facing towards
North.
" is the immediate neighbour of ‘R" and T
Neither ‘X’
neighbours of ‘L. P’

left of ‘L.

X' is sitting, immediately left of Y’

nor Y’

are the immediate

is sitting, sccond to the

Who is sitting at the second position from the

right end ?

L) K

| 23.

|
|
|
|
|
|
|
|
|
|
!
|
!
!
!

24,

| 74 F

y 41 4 [ g
T L 3

:"15‘.5“ Tic » . . g -
e o, w2 (47 oy
ﬁ‘” Sl 5 1 V olh -
P AR S U AL UE
el ' . I S
w7 ®OR,Y- 183 I
A

Aq1 A

L 4 N7 7 fars
arz A¢ Al 17 THeA 4 ' X2 f.f.-;;,
i w4 @ T G AT T T A ww
fagee el ) gl 4w Al v
4 fr o TAH B A % AN T A oy

oy faz Al F A1 'J; qaq 20 fFa9 2 a4 5

g far w1, 377

(1)

(2) 8 fa, =fam
(3) 12 fEs, T
(4) 12 fEA, =fam

@ AAF K, L, PR, T, X A7 Y 7% #f1 F9 W
TW A AT qe FE 43 F10X, Y F
ad AR g2 R T, ROAR P ® [HAEem
TERE 21X Y L F U fadeam v
TP, L F Al A0 T e W A R

BRI CES (R e TR

R2



25.  Three statements are given, followed by four | 25.

conclusions numbered 1, 11, 111 and 1V. | LIL 1 AR Y feu e # ) s e AR
TFEA T A 9 e S A A e A w
S zr@ T Fafee f fag o foedt § | 29
/A FoE A A w14 e /82

Assuming the statements to be true, even if |
they seem to be at variance with commonly |
known facts, decide which of the conclusions |
logically follow(s) from the statements ?

|
Statements ; | YA
!

1. All boats are fishes. 1. A = wefed )
2. Some fishes are rivers. 2, 3D wofe Afea €1
3.  Some rivers are sailors. 3. 9 el fees 2 1
Conclusions : e

¥ Some sailors are fishes.

1. %9 e wafeEl €

1.  Some boats are sailors.

1, 9 e Ak €
111. Some rivers are boats. . @ AfeE e g
V. % wfear e €

" (1) Only conclusion IV follows.

\
i
|
|

_~1V. Some fishes are boats. ‘%
11 (1) oa frerd 1V oo 31
'1

(2)  Only conclusions 1, Il and IV follow. (2) @ freRd 1,11 SR IV freeed )

(3) Only conclusions | and 11 follow. (3) Faa FreRd 1 2R 11 Feer €1

|
|
|

(4) Only conclusions Il and 11l follow. | (4) e FrRd 11 &R 1 frerem ¥
e |

|
!
|

 26. Ife ‘I, ‘hem-ofEm A S M T S

| 1 & S ?

26. If North becomes Soull___'nzWest en what will
West become ?

(1) North-West (1) SW-u=m

(2) South-East [ ™«

)
(3) East

m’ North-East

(2) <hm-E
@)
(4) SW-

% grvt)
PGT-PHY-2023 ¢ Lt S




S LB UL e 'a,;f'q.;-,;,‘m }
27. Fwo statements labelled as Assertion (A) and I 27. A€l l g 0 A9 AL R A Y [fMJ »
Reason (R) are given. Consider both the | fl’*iti(l(l L,”' i W,
IR
statements carefully, i | T kU s
. v ad (A) . Hid & Hq194 A gy,
Assertion (A) : India has the potential to {7 D ) )
: make ity Handicrafts | LU AR 2| B b A4y,
' b . Fl e 2
industry a very flourishing,
seclor, Yo i R o
. ‘Iie A4 190 nfes
\ Reason (R) : India 1s a home to a very e (R) : 1 7z3

_ AG) HeA o foren e g,
large number of craft forms

including toxtiles, : ‘

A9 fen 10 2 FN HRAA A TE T g

7 |

(1) (A) merd 2 97 (R) 5@ 2 |

(2)  (A) A& 2 T (R) Temd 2

(3)  (A) # (R) &1 HWEZ A (R), (A) B
TE AN R |

(4) (A) * (R) @F1 #& & T (R), (A) 7
T FATA el 7 |

Select correct answer with the help ol code

|
i
|
l
!
l
!
.'
|
(1) (A) is false bul (R) is true, '
(2)  (A) is true but (R) is false. =
~ (3)  Both (A) and (R) are true and (R) is the 'I
correct explanation of (A). i
(4)  Both (A) and (R) are true but (R) is not ]
the correct explanation of (A). ]
|
28. A patient has been given a medicine schodule, | 28, T w9 #1 U, @& aifer €12 | Ty e
| FFA S T, U, V, W, X, Y stz %1 7
’ frfatas wat & snur s yerE feq fou 97
2
(1) Capsule S must be taken sometimes : (1) ;‘F'l”if'I ‘ST 3R W T gEd F o
|
|
|
|
|
|
|
l

Ihere are cight medicine « apsules. S, T, U, V,
W, X, Y and 7. Which have (o be taken cach

day based on the following conditions :

before “T" and ‘W’ fern o,
(i) 1" V' A doRTA Tee ferar s

(1) 1" must be taken immediately before
l\;!,

(1)) Fourth capsule must be U’

!

(i) ¥en Fqepe o1 U’ 21 =ifeu;
(iv) 'Y & X" F dehT yge fer

(1v) Y’ must be taken immediately before
¢xl”

(v) 7" must be taken immediately after ‘W,

V) 7 W W T e for
(i) "Y' g o e e <
Frerferfin & 4 2 a1 o e 22
(1) %31 F9epe v g wnfen

()T H S 3t e o o B
)X | 'S | 971 fory s

(vi) Y is the first capsule to be taken.
Which of the following statements is falge ?
(1) The sixth capsule must be “V*,

- (2) T is taken immediately after 'S, p%
(3) X" is taken before ‘S,

(4) “U" must be taken le:w-vrjg and bi{ﬂ @) U T P —
— S \;
PGT-PHY-2023 S@ / Iy 14 c b R?
X % ) n.l)_,\_ U
U e ¥

'S




29.  Sudha is the wife of Anand. Kavita 1s the | 29,
mother of Gaurav. Anu is the daughter of I
Ravi, who is the brother of Aryan. Anu’s l
mother Kavita is the daughter-in-law of '
Anand. How is Sudha related to Aryan ? i
(1) Paternal grandmother I
(2) Maternal grandmother l
(3)  Sister |

&m—& Arawd |
F—FLAVI ﬂ\#ﬂ
~(4)  Mother
- *%l; )
ol |
30. Select the letter cluster that will replace the | 30.
question mark (?) in the following series
—
" —-)
H1
BVU, ZXQ, XZM VBI, TDE ﬁ
2,2A), ;u A
A by s @)
-5 M AL
Y1) FAR “§
A S XUV WXyt
20 2o
(2) FRA
Po ng Tuorvwxyz
Iy oy
e RAF
2 R 24 2n 2,
L R =T
ERE
PGT-PHY-2023 é% 15

{1, AFe #1 us & Ffam, a8 e
4, 104 B P B A o S A
Ffad, e F qFEy 2 g w A #
A 77

(1) =@l
(2) A
(3) @A
(4) T

frefafaa @ 3 yed 98 (7) & =M W/ 3/
ATl 3R T 1 57 B |

BVU, ZXQ, XZM, VBI, TDE,

(1) FAR
(2) FRA
(3) RAF
(4) RFA

R2



PART - 111 / 4191 - 1]
KNOWLEDGE OF ICT / ICT I S
31.  McAfee Plus is an example of : 31. HWFFE A (McAfee Plus) T T Sagm
27

(1) Open source software (1) @17 Hid ATFATT (Open sour

software)
4
(2)  Programming Language (2) e A (Programming, Language)
i W (3)  Ant-virus (3) w2 9 (Anti-virus)
(4)  Application software (4) AT 9T #TFZ477T (Application
software)

32.  Which of the following software you | 32. ‘afafrea wfE f{ﬂ‘{_u_ﬂltd Uﬂoﬂxﬂ' faug @ =
preferred most to design an animated Tfee weetdifean wsievH fesmed & & fau
multimedia presentation on the topic ‘Benefits A frefafaa 4 9 ##F 9 qieam #1 gatfas
of Renewable Energies’ ? mafaga 37 ?

ﬁ 1)  Microsoft Excel
\/(—2‘) Microsoll PowerPoint

(1) HEHETR TEHA (Microsoft Excel)
(2) HEFHFIATFR YEIEE?  ( Microsoft

in::rl’uinl)

(3) Microsoft Edge (3) WM TS (Microsoft Edge)

(4) Microsoft Word (4) HRHER T2 (Microsoft Word)

33.  Which of the following cloud storage service

33. WEHEIR & w@ifae Al o @i add
Fretfefes 4 3 = i 22

owned by Microsoft ?

VJI) Floppy Drive (1) Floppy Drive

()l“‘“‘;’-l\ Pe (2) Google Drive
- d _——

— (3) iClou B
—4) One Drive

[5] % [=]
PGT-PHY-2023 é% 16 R2

(2)  Google Drive

(3)  iCloud

I
|
!
|
|
l
!
!
!
l
|
|
!
|
l
|
)
|
|
|
|
|
!
|
l
|
l
|
|
|
|
|
!
|
|
|
|
|
I
l

(4)  One Drive




34,

Out of the following options, the most popular I
combination of shortcut keys to Copy Some l
selected text in most of the MS windows I
apphcations 1s : O, I
(y Cul+p 1
(2) Cul+X |
—(3) Cul+C ]l
(1) Cul+0O |
35.  The power backup device, UPS, stands for : |
1) Uninterruptible Power Supply !
(2)  Uninterruptible Power Syslem ]
(3) Under-control Power System %
(4)  Under-controlled Power Supply I
36.  Which of the following is not a source of the ‘
virus enlering your system ? I
(1) Pen drive %
~N(2)  Printouts !
(3) Email attachment |
(4) Hard Disk
37.  Which of the following does not come under
cyber-crime under IT Act 2000 ? |
(1) Misusing personal information over !
internel I
(2) Using fake email messages lo get
personal information
=~3) Stealing monitor from a store l
(4) Distributing child pornography over
internet
Elgr®
PGT-PHY-2023 % 17

34.

35.

36.

37.

AN MmA D74
901371
[ AN AR W R BN R R

sfvrepion ua vy faers (MS windows) TEATHIM
¥ F9 Qe w2 F) ‘wrh & F A
frAferfaa fageq 4 4 gaifys AFfua

(1) Ctl+P
(2) Ctrl+ X
(3) Ctrl+C
@) Cul+0

Qe e I A" (UPS) 1 A4 T
Uninterruptible Power Supply
Uninterruptible Power System
Under-control Power System

Under-controlled Power Supply

frefafad § @ $1 @ e faeq § 9 &
3T &1 Tk ©ild el © 7

(1) A 4 (Pen drive)

(2) f9e3=™@ (Printouts)

(3) 3-Fa 31e=He (Email attachment)
(4) = fe=r (Hard Disk)

frafafaa # | %7 ™ 7 9 v -2000 % Hariq
T A3 2790y 8 & 2

(1) 3eTie W Afesh THFHM F GEIGN HET

sifeish ARl W FH & fen Teped
3-Td (fake email) JS F1 T FH7

feefl ®R | A T

HZ W oaE  Aveltd  wifea
(pornography) faaf@ =t

R2
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38. Which of the following groups of devices are

only input devices ?

x(1) Keyboard, Printer, Light Pen

(2)

Joystick, Microphone, Scanner

- (3)

Mouse, Monitor, Joystick
, SN

Mouse, Microphone, Speaker

39. Which type of network we create when we
connect two smartphones to transfer some

photos through Bluetooth ?

(1) PAN

—42) LAN
(3) MAN

(4) WAN

40. Which of the following is an example of an

Operating System ?
(1) Word
e

(3)

Windows
Bing

(4)

EzzE
PGT-PHY-2023 @5 % 1

Edge

38.

39.

40.

8

# g SR 1 HH TR T
e feared (I &7

F_arg, fa=ey, @ 97 (Keyboard,
Printer, Light Pen)

(1)

siafe®, AEHIEE, TR (Joystick,

Microphone, Scanner)

T3y, AR, Srafeze (Mouse, Monitor,
Joystick)

HT3E, AEFIEHIA, FIHT (Mouse,
Microphone, Speaker)

(4)

<@ B9 2 (Bluetooth) & HILAH ¥ §B B
U9 & ToTT S TIEHE i S9E B e F &
A foF9 YR F Aeasd H T © 2

(1) T (PAN)
Td T T (LAN)
TH T TF (MAN)

€Y T T (WAN)

Frefafas 9 @ w13 o g fen fawd
(Operating System) &1 T ez &2

(1) = (Word)

R2
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PART - IV / 9T - IV
TEACHING APTITUDE / f1&mv1 aif¥rgf

41. Effective teaching, by and large, is a function

teacher’s positive attitude towards
teaching,

teacher’s ability to make students learn.
teacher’s honesty.

teacher’s scholarship.

42. Which of the following is not an example of

‘Assessment of Learning’ ?

)
TS2)
3)

(4)

Scholarship Examination
Anecdotal Records
Annual Examination

Assessment of Homework

43, If students are nol taking interest in their

studies, the teacher should :

(1)

44.

file a complaint with the principal and
parents and seek their indulgence.
find out causes for lack of interest and
take corrective measures.

ask them as to why are they not taking
interest in their studies.

tell them that laking interest in their

studies would lead to good result.

Which one of the following is not associated

with a unit test ?

(1)
H2)
(3)
N (4)

Totally controlled by the teacher
Used for Remedial purpose
Standardized Achievement Tests

Confined to limited number

competencies

PGT-PHY-2023 g%

|
!
|
|
|
I
|
!
|
|
!
|
|
|
|
|
|
|
|
|
|
!
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
o
|

19

41.

42,

43.

44.

qrzgd: W foream fwae v 2 7

(1)

(2)
(3)
(4)

fora #1 foram & wfa gawrrenF wAfvga

faenfd=i i Afama #01 9= F:1 A
foerar =1 A=
forerer =1 9ifz=

freifera & A FA Al F A #

JeTET T 8 7

(1) 2rEgfd giam
(2) Had #wfqeE
(3)  @nfE T

(4) TEHME F AET

7fe ferenedi 01 derE § w9 T @ © %?ﬁﬁ_«'f&ﬁn"

)

(1)

(2)

3)

(4)

Y™ 2 = g-foar | feeema w5
A A1 GETEET 1 T F1

37! TR | FE 9 ©H & HE FH T
R GURTHE HHETR i |

379 Ja1 =ifen T A geR § w9 #1 78
Aw®WEI

3% T Aifed fh TeE | v 2n |
= qfTomy e 2 |

fr=ifera § 9 =99 91 U TR qhem § HeEfig

Te?

(1) foeers gm0 goia: fFefm

(2) SUHRIHE A 7 T

(3) HHHIFHd HIfE e

(4) @ F1 HiTd Ten 9% gfilE

R2




45. Which one of the following is not a

—

characteristic of teacher centred approach ?

<&

Enough scope for discussion and debate
1s available.

x (2)  Courses prescribed can be completed in
time.
(3) Large sized classes are handled very
well,
~ (4) Unfamiliar or abstract concepls are
directly explained by the teacher.
46. Mohan can now think in terms of

propositions and deal with propositions
instead of objects. He deals with sum tolal of
possibilities rather than empirical situation.
He takes final steps towards versatility in
thought.

Mohan is at which stage of Piaget’s model ?

See,

*=(1) Concrete operations stage
(2)  Formal operations stage
(3) Pre-operational stage

(4) Sensory-motor stage

47. Th{ ASSURE mod@of integration of ICT in

the ]emrocoqq has the components :

(1) Analyse the content, state the aim,
select method and materials and
evaluate.

(2) Analyse the learners, stale the aim,
select the method and materials and
extend.

—_ (3) Analyse learners, state the objectives,
select the media and materials and
evaluate.

(4)  Activity, state the objectives, support

and extlend.

EE
PGT-PHY-2023 %%

46.

47,

fowaw wf=za 3urm &) faafatas o o 59 5

faoraa =@ 2 /

(1) 1 3in 4w faae &1 9ara qqm o g

(2) fafea w=aasqA #1793 7 gn fFa o
Al 2

(3) A2 AW H] AU A= GET T9iea 2
A2 |

(4) aubifaa #17 g494 9713 fowazw zm

Y AW erentga fFu 7 7

HIEA 314 A F A7 § 712 T £ A7 Fq 4
T AUA TFNA A AFER F7 qFAI 2| G7
AN W AIE F T FAEAA F 933 1
FAeN T 71 9 famw § mea w1 oan
Feq 337 2 |

-

mﬁaﬁ%uﬁnﬁéﬁmwwm

(1) ¥ dfFaws Jaen
(2) A9d AfFaens qaEn
(3) R s
1) zf=a-dfa e s

Aftrm sk 9 g=1 3R w99 Wi F

A4 % ASSURE Wfawm F a1aga ® -

(1) fawras +1 favemm, sy fauim, fafy
3R A 1 9 S Yeia |

2y sifomrerisil @ favergm, s@sm fRamo,
fafe s it 1 999 3R famn

(3) st o faverm, sRyEl @ frsa,
RIS ST [l T3 3R geaien |

(1) T, 3ot @ fasum), v o fazan |

R2



4N,

Which charactenstie does not b l"”.". liv

Adolescence stape )

)

+42)

)
X (4)

49,

A pertod of mtense emotions

Highly critical of social evals and

mjushice
Pronounced group lovalty

Forming, groups amony members of

SAMe sex

What should not be a role of a teacher in the

construction of knowledge by students ?

(1)

)

3)

(4)

Focussing on realistic approaches to

solve real world problems

Discouraging self analysis and self

assessment

Being sensitive lo the previous
experience of each and every student

in the class

cooperalive and

Supporting

collaborative learning in the classroom

50. What is not.an advantage of Discovery

method ?

(1) It provides training to prepare students
for life.

(2) It develops sell confidence and sell
reliance.

37 This method is suitable for the students
of lower classes.

(4) It develops scientific and critical

attitude among students,

EgsE
PGT-PHY-2023 é%

|
|
|
|
|
|
|
|
5
|
|
|
|
|
|
|
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%

49.

50.

feaymn 0 Yy ot o

(1)

(2)

()

(1)

A JAM &) A7

annf st qiem a -2 & 9fa favm

i 2m 274
e AR AV GO R

mre feam & wataam & g e

faenien g A @1 dea #0A 5 foeE
F1A 1@ yfaa 77 = afer 7

(4)

arafas fava 1 auaaa F J94E 7
ardfas Farm 97 F=21F77

Ay q M ATFAS F1 TATEIE F-

Feql F yerF fqmdl F yamya # uf
qaeTyieal

Al FE § FeArT ua Hewiirargol Af
F1 HIA T&H FLA

A famaFm e Ae g g7

7e faeniern &1 daa & fou o en #
T Y vl 2

faahm e g

7z fafu o1l wensti & faenfedi & fou
Expiuiis

WE g faefdai & dwfaw six
HHIAEATH S 2ifqgfa &1 faswm g 8

R2



I=Ud o, Visgamy, (V = uted ) b \Jéj
;; u“”‘y PART - V /4T -V '
= u*?\*l.\éx[oﬂ

N ET 2 e
51' A ball is thrown ]mriznntally from the top of 51, fawdl 20 m Sl HAR | TH TR A feum ":I

a20 m high building. The ball strikes the | thert WAt €1 2 A A i o e Sl

ground al an angle of_45°. Taking the | TRl @R A 10 m/s ?5'1?1 €0 TR F) T

acceleration due to gravity as 10 m/s?; the | fored fa =8 weafaa feram T 2 - Viz, Wred
T I f \ 1%

speed at which the ball was thrown is : 1
75 m/s
U sy

| (2) 10m/s

(1) 75m/s
(2) 10m/s

iv“ (3) Om/s

el gt -
(4) 5m/s (4) 5m/s
v Vourak 1 :\‘J‘&loﬁ.ﬂ' v‘f\
a
52. Which of the following situations is/are not | 52. freAfafea aftfeufas 'f-'[ [ FF o TevE T Y
possible ? I' €7
A : An object having velocity towards i A Tie formes am 3w d qen o <o {2
north and acceleration towards south. l
B: An object having uniform velocity and B: fie fSus & 9 9 & 9
variable acceleration. ~ afead &
_—"C: Anobjecthaving zero velocity and non- | C: fus w3 = 2 weg e 3 Al
zero acceleration. —% |
X (1) Bonly | (1) =@ B
|42 Conly i 2) Fe@ C
3) AandB | (3) AIRB
x(3) i
(4) Band & ll 4) B#RC
ExEE
s@ 22 R2
PGT-PHY-2023 X




53. A lift is moving upward with uniform | 53, i3 o THEHH ©0 B FW F AR TAEH
acceleration. The graph shown below shows | 21 2 gt T e faw # ed @ el y

the position ‘y’ of the ceiling of the lift with | ) TG ‘Y F WY T 2|
time t.
y A _‘;f 1\ :

’
’
¢
/
i
’

|
|
Vikcocsass -"f i Wilie s sawes ',"

o qy ot o bt
At instant t;, a bolt breaks loose and drops &1 t, T, ©d J T dIee el Bl = ﬁT(Tﬂ%!
from the c;ﬂing. Which one of the following ﬁﬁrﬁ‘rﬁﬂﬂ TF H W I 9 TF 999 & 9y aree
curve best represents the position of the bolt =1 ferfa =1 Wt Freqo #3182
with time ? S
YA Y A
Yip------ ' Yip------
oL o
0 R ) 4 0
¥ A Y A
ip------ /\ Wif------ /\
(2) (2)
O tq r O E] r
1 A I Y A
L || Yip==m--
e \ E (3) \
0 4 1 0 t v
YA YA
L | ] S
(4) (4)
t o 4 ¢
PGT-PHY-2023 % 23

R2



54. For |

two veclors A’ and #B’, ] 54. /,: £ [0 B’ 21 |z F fAm, '\ t H’: A

\ - B
L\ + B,‘ = l:\, — .1_3, is always true when : | 24 A 2l AECE
o l
@) ALB ; @ ALB
(b)  When ei |“" |—"'- | s |7 . H 5
~(b) en either |A| or |B| is zero | (b) A |A‘ A4l [B| T 7|
S o |
X (0) ‘A|=lB'¢0 and z and Eare either | () |X|=\E‘¢g gl A W B 71 9 HoiE 2
parallel or antiparallel | Ao faadia? |
|
" (1) (b)or (o) | (1) (b) A4E ()
'L_(\ \ |
@ @ony (pt0) =\p-D) | (2) e (b)
@ @only /EM DM 2D 5 e )

\_—HT (@) or (b) “n-B= o
ﬁﬁLbJ

(4) (a) w1 (b)

s

55. In the diagram shown below, A has ' 55 =5 eyfa @ fa3 9 Z &1 qfaTor 4 ® 94

—
magnitude 4 and B has magnitude 3 along E‘ s PQ fewn & arafaw 2, =1 uftmmo 3 %)

-3

5 . . - -
the direction PQ. The x-component of A+ B H +-TTF -

!
|
|
|
|
!
I
|
|
|
K + E 1S : i
|
YA | A
|
g - = g P
AR08 AT
" | 60
& 30° Q_} ] o 30° Q
X »>
A X
MDD = 4 38 + 3 Caes !
L1 7 = uxJss 3rL % a 7
e
1 - 2) 1
(2) = 2854 kY | %
(3) 0 } 3) 0
(4) 5 i 4) 5
%2 y 2
PGT-PHY-2023 @ 5: 3, B

VI |
2.k r;U\(:L& ,—/—f’g




56. Circular free way entrance and exit ramps
on a basement car-parking, arca are normally |

banked to handle four-wheelers moving, at |

|
[
1
speeds close to 20 km/h. To design a similas !
ramp for 40 km/h speed, which one of the !

l

following should be considered ?

The radius of free way need to be made

|/‘F—(i}

four imes.

(2)  The radius of free way need to be made
\-"13 timt‘s.
two times.

(4) The radius of free way need to be made

!
|
|
!
|
!
!
|
!

The radius of free way need to be made :
!

!

!

half. |
!

WL

v ‘11%

i
1

57. An object is subjected to a constant force | 57.
given by (]Uf + 7? - 73?)N ; (symbols carry ;
their usual meanings.) It moves by a distance |
3 m along +y direction. The work done on |
the object by this force is : |

|
(1) 14 N.m
2\ |
(2) -21 N.m |
|
(3) 30 N.m !
!
\/(,4) 21 N.m |
ElpzE
PGT-PHY-2023 & 25

506.

gfama #v mtEn ax % e g e s
feu a4 ade sanm am & 7
#1 20 km/h F1 =Amm nfa F A0 gwm
A 21 40 km/h #1 fa & fAw e gem
frarra 1 % fav faatataa « 3 s 5w e
71 e /

AT 31 HJATET=1A AT

(1) #@ay °m &1 fawn 1 90 T wA 0!

|
B
4

(2) @A T F1 T E
1Rl

(3) S w F TFE F1 9 A Aed

() o AT F I F s v el

)

fardl fie W TF (101 + 7 - TA)N F1 UTF

f7a o= o a2, (WA & 3G A
74 ¥ 1) wergEy F2 +y fam °§ 3 m nfq w7
2 g e wfFn SR aen 1 T

(I) 14 N.m
(2) =21 N.m
(3) 30 N.m

(4) 21 N.m

R2



58.

and D connected by light, inextensible strings
as shown in figure below. The

smooth and the pulle
When the system 1s released, the
in string connectin

g blocks B and C is
(=10 m/s?) '

surface is
y is light and smooth.

tension T2

A B e

E)Tg}ﬂlz.o kg\_T2'4.0 keli3. 1,

\2%r

&E'Ti\ — 6

£o0 = ™A

(4) 40N

l
I
|
l
|
|
|
|
I
|
l

Consider the system of four blocks A, B, C | 58.

A | g sEn 6 gew afaa S
A 2 91 e A, B, C 2R D W fa=m #ifay
g fa 2 o farft gohl oin fasdt 21 =y
e =1 e fF3 91 W EE B in c 5
g Aelt S/ A FE T, HOAE 2

(=10 m/s?)

A T B
6.0 kg-112.0 kg

(1) 48N
(2) 56N
(3) 30N
o o 12 %o -~ ‘[;

59. An object moving at uniform velocity in an | 59. ot Sreceita e § ws gum 3 nige et

inertial frame must :

)@«ﬂ‘) not have any force of gravity acting on
it.

(2) eventually stop due to gravity.

(3) have no frictional force acting on it.

Mﬂ// have zero net force acting on it.

Op%40)
PGT-PHY-2023 g%
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ﬁl"s’fl'{:
(1) ¥t Teca o1 Hrim 78 o e
(2) TFE F HRO 3= fawm H ey =fEwl

(3) T =¥V g i T B =R |

(4) YA TR 99 FrRa 8 it

R2




60. The uniform motion of an object along a | 60. fadl oz #1 fFd Fd@ 94 @ TFEAEH T1fa
circular path is a direct consequence of : | fepeafeafaa © A fawra divn afromm 27
‘ |
(a) conservation of energy and 'I (a)  Z AL Hem W |
momentum. I
\/{—b)" an acceleration always directed toward ' (b) T @ Al o T2a uF fa= F1 20 A
the same point. l| 2l
(c) Newton's third law. | (c) g2 & g |
<= (1) (b) and (c) !l (1) (b) A (c)
Y2) (@) and (0 ¥ L@ (@ #r©
| :
(3) (a) only ' (3) @9 (a)
@) () only } @) ()
l
61. An object is simultaneously subjected to % 61. e fiz W 2 el 9@ TF 914 wrifad fad
several conservative forces. The work done | @ ¥ 2 feafadi § f6= dga 79 T I 5
by them on the object over a closed path are fifg W faFan <A A FE
Al |
given in two cases as : |
e
A Wy = 5[;(21'21 + 3F,).ds and i W, = @(z}‘?, + 3F,).ds A=
!
. 5 o
[ W, = p(F, — Fy).ds { W, = G(F; - Fy).ds
! o L.
Hereﬁ=(7?+5?—5£)l\l and | H frefud f@a Sd 21
O " . =
1?2 = (i + ]23?)]\1. What is the relationship I 7R F = (7? + 5? - 5?)1\] q
—y A .
between W; and W, ? ] Fy =(?+]2k)N%1 W, 991 W, & =T 31
v = rs
(symbols have their usual meanings) ll (et} 3 ITF T 31 € 1)
1) Wy>W, Wn:j | (1) W,>W,
2) W,=W,20 l 2) W,=W,#0
(3) Wy<W, | (3) W, <W,

LM W =W,=0 i

4) W;=W,=0

EgrE
PGT-PHY-2023 é@ 27 R2



62. The ultimate tensile strength of a brittle

sample is the stress at which the sample :
————=4) Dbreaks.

(2) gets permanent deformation.

7&1) bends 180°.

(4) returns to its original shape when the
' stress is removed.

63. An object is thrown vertically upwards to a
height of 10 m. After reaching the highest

ey
point, it returns to the same point from where
it was projected. Assuming negligible air
resistance, which of the following quantities
may remain constant throughout the

motion ?

(a) Both kinetic and potential energies

(b) Momentum
M) Acceleration
&The sum of kinetic and potential
energies ]Z
\/(4») (c) and (d)

(2) (a) and ()

i o . R o s T L e R B A L A S S S| S o e A e o —— e ped

(3) (a) and (b)

(4) (b) and (¢)

e
PGT-PHY-2023 g%% 28

63.

mwmmwwmﬂvﬁaﬁmﬂ%

foq o fo =490 ¢

(1) ZESmel

(2) word w9 B fowfd & S €
(3)  180° R TS Wl €|

yfaeret ge T 39 o A H amE
A AL

fret fiig 1 10 m &1 F9E W ST H AR
SeaieRa: thep o1 §1 Seaqd foig W 9g=R &
Ty e e S faeg W ded §, ' 4 6
T wafga fman T @11 9 F ufiy ==
o Hd g, Frefafaa sifes ofiel 9 @ %6

3 7fq o <SRA e @l ?

(a) <HI Tfas SR feafas i

(b) e

(c) U

(d) Tt oiR fearfas seitsti = am
(1) (c) 3 (d)

(2) (a) ¥R (c)

(3) (a) 3 (b)

) (b) ¥R ()

R2
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64. A rubber ball is taken in deep sea where its | 64, TF T3 il ﬁ?' Tl faddl e HJqz H 37 IR AF

volume is changed by 0.2%. The bulk ! @ ST ?ﬂ?ﬂ 2 s T =z aEad 0.2
modulus of rubber is 109 N/m? and the | qee Sl 21 T CATAA TeATddl U
density of sea water may be assumed as 107 N/mz“"?'lﬁl'lﬁqﬁ el ol I 10* kg/m’
103 kg/m3. The depth of sea is : | 1 1 T 7 | T ] T 2
(g=10m/s?) 2 (=10 m/s?)
pV 2 0.2 |
(1) 1km O k= ey | (1) 1km
T}r_;:h ,
1
(2) 1.6 km 2) 1.6 km
lo? = ’}\%3 |
0. x| i
(3) 100 m [ | (3) 100 m
lajx 0L =

L@ 200m (o x [oox12 1 (4) 200 m
|

!
!
65. A bucket resting on the floor of a lift contains }| 65. e fome % Tl o faammeen & & el H p

e ATl T STEdited e € 72 fagw =

an incompressible fluid of density p. Now

402 !
the lift starts moving g_(_w_\rilmrards with a | F 2N TF THEAE T p H T BT AT
uniform acceleration p. The pressure | S 31 T % 9 fagadi, fe | Ay AR
difference between two points in the fluid, | S ¥, % Hed 0 qEial 8 ?
separated by a vertical distance \ﬁf 5 |
i 1
i J e
(Symbols here carry their usual meanings) |i (wdiehl & I |HTA 219 1)
?
(1) p(g+a)lx DP - i (1) p(g+a)dx
!
LT plgm ) = hI(9~q )! @ olg-a)dr
|
|
(3) ppAx | (3) ppAx
|
|
(4) pgdy l (4) pgdx
|

PGT-PHY-2023 é% 29 R2




66. A wooden block with a small picce of iron | 66, T @& &1 1241, F90 w0 ug e 4 TH

placed onits top, floats in a liquid of density ]
p. See figure below. After some time the iron ‘

prece falls into the liquid. Then :

(a) [ decreases

«~(b) I increases

V(c)  h increases
~_(d) h decreases
L (1) (b) and (c) j

B @@
(3) (a) and (c)

(4)  (a) and (d)

67. The lower end of a capillary tube of diameter
1.0 mm is dipped 10 cm below the surface of
water in a beaker. What is the Rressure
required in the capillary tube in order to blow
a h(inﬁp_lwrical bubble of lwigtjjlle diameler
of !:Eg tube at the end of the tube in
water ? (The surface tension of waler is
7.30x 10" 2 N/m; 1 atm pressure=1.01 x 105
Pa, density of water=10% kg/m?; and

g =10 m/s?) PH— QS

(1) 1.02x10° Pa
(2) 1.01x10° Pa
(3) 1.562x10° Pa = QX7 -jc.m;;'L

(4) 1.022x10° Pa =
i 2% lox|s
PGT-PHY-2023 é‘%
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|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
A
!
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67.

LEz|| ;’, fa (r H At Za o A ¥ 14 fory
2 | F AYA YT AR F THZ 29 G f gy
ARG R

(a) |2 SA@Z |
(b) [9g A2
(c) hag @zl
(d) h=e SR
(1) (b) 2 ()
(2) (b) # (d)

(3) (a) 3 (0)
(4) (a) 317 (d)

1.0 mm =1 # & FvEet &1 fH=en fou
AR H M A F J= A 10 om 9 a6 gard
8| Al & e H ga o WAl F | |
A A F AYMCAI ereen e & fou
Tl & it TEvEE @ R 7 (S 5 9
A1 730%x 1072 N/m &; 1 9rqHUSHE
2@ =101x10° Pa; 9 1 A =10> kg/m”;
adl g=10m/s2 & 1)

1.02x 10° Pa

(1)

(2) 1.01x103 Pa

(3) 1.562x10% Pa

(4) 1.022x10° Pa
17)0%L R2
IN. € O



68. The expansion of an ideal gas 1s shown by ‘ 68.

the graph below :

@)

Which one of the following diagrams l
represents a correct P~ T diagram ? ‘
Loy

i 12 LP—YI:“RT

(1) :j"""TcamJ P

o]

(2)

o2

Q
—Y

-y

ro (4

— Y

(@)

ke
e S ———
—— — ———— S S S
-.——_—-_-—...—-_——._..—-——-—l———'
—— ————

040!
PGT-PHY-2023 Ej% 31

'—i1_"1 ‘.Q[.I]-q TTQ '+ “ 1TI&§', ﬂr{m [‘(q Calsesitl ,mq]

eS| 2 !
P4 1
‘. v constant
I)
a2
N - >
( ) Mt

fHe M AR I A FA TN TE AR P -

a9l 2 ?
p
2
(1)
1
0 T
I)
11
(2)
1
0 T
P 2
(3)
1
o =
P
1 2
(4)
O T

T a3




69.

70.

=l-

PGT-PHY-2023

Which one of the following statements
presents an evidence that molecules of a gas

are_in motion constantly ?

(1)

Gases are easily compressed.

2)

Winds exert pressure.

(3)

Heat is needed to vaporise a liquid.

(4)  Two gasses interdiffuse quickly.
30 2319
3 2

F D | ro
7 89D s 3

A technocrat claims to have developed a
reversible heat engine that has an efficiency
of 40% when it operates between a high
 SESHR | ; ¥ OTEE
temperature reservoir of 150 °Cand a low
. .—N:T“j i
temperature reservoir of 30 °C,) Which one

of the following statements is true for this ?
MY-ie!

35

The engine is not possible as it violates
the second law of thermodynamics.

The engine obeys all the laws of

thermodynamics.

The engine is not possible as it violates
the first law of thermodynamics.

(3)

(4)

and second laws of thermodynamics.

i

!
!
|
l
l
|
|
!
|
!
!
|
|
!
|
|
|
|
l
I
!
l
I
|
l
l
|
|

The engine is possible as it obeys the first |

l

32

Nﬂ \A ™

69.

70.

freafafaa s 9 4 ﬁ‘mmﬂ,‘cﬁgﬂﬂmaﬁ]
w2 & T T H o) wdm fa e e g

(1) 9 9 | ddifed @ o 2

(2) va <aE Ufud s € |

(3) Tordl a0 1 v A % forn s 7
JEvaHAl Bl €1

(4) < Y TR W = fagieE @ S

Teh dehAten! fag@m il 150 °C =9 dm9 d91 30 °C
79 a9 & "eg FEdE T 40% el 9
IChAME 3 39 fafad 3 &1 2@ F@
T 3% fau feafafas s 8 4 9 @
T ®?

(1) UM 359 9999 76l § i g Semfas
& fgdta fam =1 9o =18 =5t |

(2) I% 9 FHEIfaet & 94 fani =1 geE
FA R

(3) U ISH WA T € it a8 Femfae!
& 9oy 799 %1 gre 98w

(4) TH $S9 T4 ¥ Fifs 98 FomfaeRt %
g 3R fgdia a1 urem #5t@ 2

A
i K R2

o- b



69.

il

70.

Which one of the following statements ! 69.

presents an evidence that molecules ol a gas

are in motion constantly ?
(1)  Gases are casily compressed.

2)  Winds exert pressure.

Heat is needed to vaporise a liquid.

Two gasses interdiffuse quickly.

\ 25
13 )
_-___.____.—-‘
37 00

239
| 7O

D5

A technocrat claims to have developed a

reversible heat engine that has an efficiency

of 40% when it operates between a high
4 . Lo

temperature reservoir of 150 °Cnd a low

temperature reservoir of 30 °C-_) Which one

of the following statements is true for this ?

== 33

p)
(1)  The engine is not possible as it violates

the second law of thermodynamics.

(2) The engine obeys all the laws of
thermodynamics.

(3)  The engine is not possible as it violates
the first law of thermodynamics.

(4)  The engine s possible as it obeys the first

and second laws of thermodynamics,

EFrE
PGT-PHY-2023 g%

l
!

|
l
l
|
!
|
I
!
|
|
|
!
|
|
!
|
|
I
l
|
|
l
|
!
!
|
|
!
I
|
|
|
|
|
I
l
|
|
|
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(1)

(2)

(3)

70.

- - ey - b - m
frferfaa wedl 1 8 &1 | M
oy & # o6 T H au] Haa TIfd FIA TE9 7/

wd zH A F

ﬁﬁ.mqﬁﬂﬁtﬁﬁﬂﬁaﬁ?u
g =ar Utaa T € |

STrEvaaAl el @ |

aﬁﬁmﬁmﬁuﬁﬁﬁmﬁ%l

U deAiel fagml 150 °C 3= 99 qen 30 °C

= qr9 % Hvg wrEAE UF 40% & aTel
IohATIE Fo1 399 fawfaa & &1 g
2| 3% foau frafafed suHE § @ #9 @

| ®?

(1) = $5R wovya 6 @ ifs 18 Seia
% fgdra fam =1 grem 98 =)

(2) T I TR F W i w0 e
FA B |

(3) T ISR TRE TE ¥ s a7 st
F W oM 1 wer 7w
¥er ST foefta e =1 wrom w2

WO~ \&™

)
17 QY

-

3’\?:



71.

Four identical point objects A, B, C and D | 71.

each of mass 10 g are arranged in the x, y
plane as shown in the figure. These are
connected by light sticks to form a rigid body.
The moment of inertia of this arrangement ‘

about the y-axis is :

I

|

|

|

|

s |

Y |
(cm]] A 1
20 4+ L] |
10 + oC !
% Sttt 1

at 10 15 20 25 |

(cm) |

—]U" .B .D 1
|

-0 . |
'I ~ SMTR I

(1) 5.0x1074 kg.m?

L 925x10° 1 kgm? IoE*‘wﬂ,“!“jl

72,

(3) 1.75%10 4 kg.m? gl |
(4) 2.0x10~4 kg.m? !

An object of mass m is performing small

amplitude oscillation ina potential field given ]
by U(x) =up(1 - cosax). What is its time |
period ? {UU and a are constant quantities) |

(o D:f’* Q"l'f lo 4 |%,‘~j

27 |m

L\{‘L
W= T, = A

B3
PGT-PHY-2023 é%

3 s 33
.
T A-(LLT,t 21

At

——

|

|

!

7y 27a /—E— I
..) —_— \UO T,___‘ \.Mtql II
M i

!

!

9 o Un- (+Smn<w5&

=R 9T fag Fm A, B, C #R D fo=d & g
%1 ZeA9M 10 g 8, i foa o Tuia ergan fad
v,y g fF ™ R uEw g e s
w9 H 70 Ten & o wehl dfewe | Sie
TR | y- A F IRE: 38 T S S
e

(cm) A
2
10 —— oC
'. : '. | X
% 10 15 20 5
cm)
-10 FeB eD
—20+ . e
o |o + S’L-}— (EY Lo'}
oo

(1) 5.0%x10 4 kg.m? _
w14 G
(2) 9.25x10°4 kg.m? D ’)

(3) 1.75x10~4 kg.m?
4) 2.0x10" 4 kg.m? SESS

mﬁqﬁﬂ@ﬁgU(x‘)=u0(l—cosax) fawa
& H 31e STt S H W 21 3HH! qe
FAE

(qﬁUOSﬂ'{aﬁﬁmﬁ%l)

o == S
q K

) ZWGJUE
’ A=~ Mot sind

1 |m
(3) ;\E O\~ bw(



Hlr

fepil w0l el €U TeAd G5 HT0i )
ey U@ A A F AT 7fe @I =
g % sied F A, A

73. The angular velocily vector ol a spinning | 73.
— - 1
spherical object points out of the page. If the |
|
angular acceleration vector points into the |

page, then

] ferera feen % 7% T 21

(1) the objectis turning inopposite duection.

(2) the axis of rotation of the object is

changing,.

—_—
(WEN
—

(3) a‘-‘ﬁaﬁ?ﬂm?{%iﬂ%

(3) the object is speeding up.
(4) the object is speeding down. (4) 9% ] |lel 92 (@l 2 |
|
74. The speed of a sound wave is fundamentally : 74, faeht wafq v & =@ HeAd: ferer g fAwifa
determined by : " Bl € ?
(1) its amplitude only (1) Fac g9 AEH gN

\_—12) the transmitting medium only (2) TS FEO HEAH g

(3) hae 39! AEH g/

(8) its frequency only

(4) its intensity only (4) e ! el g

D.

75. A gas mixture consists of 2 moles of oxygen

i
!
|
i
|
|
!
|
|
' 75. 27 °C T fdl 19 & o o sfedsm & 2 9
and 4 moles of neon at 27 °C. If all vibrational ! a1 FiM & 4 et 1 afg weft Fom faneti 91
modes can be neglected then the total i @mﬁma&:ﬁ‘lﬁmﬁﬁ STt el ¢
|
|
|
|
|
|
I
{
!
|
|

internal energy of the system is :
B

(Oxygen has two rotational modes; symbols (ATFESH &Y 9 oiE faurd € wdtel & ExE]

here carry their usual meanings) e a1 )

(1) 297 R e U 4 Vo

(2) 3300 R
3) 1R V= i R ]
g7 S

(4) 55R

(I)y 297 R

B3) TR -

Oxy ©@ 4) 55R

Eg&E — aN-A
PGT-PHY-2023 5% @) ho 134 \1 ~
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76. A particle is in linear simple harmonic motion | 76. UH F 3 fAgsii A iR B F wen faz o 2w
HTER W@ 7 snad nfa 1 @ R

between two points A and B, as shown.

«~——10¢cm »
@-crrrenns ®- @ —r+)
B O A
«5cm—

Which of the following statements i1s/are

true ?

(a) The sign of the acceleration and force
>ﬂ on the particle are always positive

when 1t 1s at point B.

(b)  The sign of velocity, acceleration and
force on the particle when 1t 1s 4 cm

away from pomnt B going towards A are

negative.

(1) Both (a) and (b)

L

Netther (a) nor (b)

(3)  Only (a)

(4)  Only (b) B
- \FI
.

77.  Which of the following pipes has the highest

fundamental frequency

(1) A 10 m long open pipe, from both the

4

ends.

(2) A 5 m long pipe, open from one end

and closed at the other.

(3)  An 8 m long pipe, open from both the

ends.

n“'1d

PGT-PHY-2023

closed at the other.

sgg {A= v
& f

M

P

|
0 {4)  An 8 m long pipe, open from one end

!

!
!
I
!
|
|
|
|
|
!
|
!
l
!
!
|
I
|
!
l
l
!
|
|
|
i
| 77.
!

!

!

!

I

i

|

!

|

|

«—10cm ——

| S L& @ —» 4y

B4—‘icm-+ A

frafafas syl § A S @@ 8F 2

(a) @ U faig B ¥ @ 79& =0 AN W
W SRy 9 ¥ fa® T v € |

(b) BAAF AW ELIMBA4ecmTA W
F01 F 37, @I AR oA I 9 & o
ST @ |

(1) =M (a) 3R (b)

(2) Al (a) 3R AL (b)

(3) e (a)

(4) &= (b)

A2 fed 1 el @ forweR) e st SeaAn

27
(1)

)

(4)

TF 10 m &= Iy, forges <M et gt 2

T 5 m e gy, foree ua fan gen aw
T fan e B

T 8 m @1 wrgy, foreh < ot gt ¥

TF 8 m T wew, foreidt o o gen
T 8§ =< *E:*Q\ »(u)

R2



78.

-\ ’Lr\\V

A }u'ndulum < lock that keeps correct time al

Mumbai is la]]\t 'n to the moon. It will :

(1)

(2)
(3)

=W\ b
\ j'LqH)

relard by a factor of p
" 8]

retard by a factor of Jp \/

continue to keep the correct time

9.8

advance by a factor of ]
()

‘ \_]7>9 How many of the following statements are |

I
!
f
|
!
|
l
|
|
true ? !
(a) Fahrenheit and Kelvin scales agree at a , (a) FHEEE AN Ffead "TE 574 ZF70 L7
reading of 574 units ! A A |
(b) Temporaluw differing by 25° on ; (b) HRAeISE OiE T 25° aTa=17 Hfewqgm
Fahrenheit scale must differ by 45° on | T T 45° BT T |
the Celsius scale l
(c)  Water at 90 °C is colder than water at l (c) 90°C 9 e 202 °F & STl { Iiaet 2l 2|
202 °F I
(d) 0 °F corresponds to —32 °C | (d) 0°F, —32°C %I 3fma ¥l 2|
(1)  Only three | (1) Had @
(2)  All the four | (2) Wt =R
(3) Only one ] (3) FHIA TH
(4) Only two | (4) FHIA T
80. Four identical particles each of mass ‘m’ are ! 80. ‘L’ YSN 91 ek & & Vi | ‘m’ FHEA aATA
placed at the vertices of a square of ! R wagq v @ ¥ | frem Fi feafas s ol
length ‘L’. The potential energy of the system | T F Fe W Gya wa9n: § -
and the potential at the centre of the square i A,
are respectively : | \J-—;ii\' L l\n }
2 2
Gm
){) 5.4'1(3%; 2= LL (1) 541@ﬂ J'(Jm
_ S oy
om | MR
e 2) -541G2—; -4y2—= ) 541G™,; - J‘Gm V= x G
i ( )
L L ! L &\ﬁ-"-
M @3 _s416M°; 42 Gm | 3)  -541G™; 4g3Sm :
(‘ ) : L z L ! (‘ ) I_. L S L{-\r}— (AM
C\
.m? Gm | Gm
—— (4 541G—; —4J§T g (4) 541(3— —-4J2=— 2
t ’ — = 21)
N - \T . = 1A
% Tpind, = 2 k 237 = -F:\'/;
PGT-PHY-2023 & T = 36 | leg PR
1 1 M
U=z & M 5-1._1130"‘9
l
1 B —

fareil Wgem w21, on et ° oo gy

l 78 ’ . :Un»” r’,_
| F1 TEH T A S TR gw
I . : L

(1) (‘)‘37‘12'5“177{}71?1 ATAI |

(2) Jo & HFZE { HH & AP

(3) @@ HHA Fdrd @ |

9.8 .
4) 17 & WZHh | 99 THA 9T
6

79. frAfafma sy g a fFaa g 27




Aw- [E
p-v T a
81. What is the power radiated by a tungsten- | 81. fFdl 03 cm?2 9= aawd are 22 fafga @
alloy lamp filament having 0.3 em? surface | a9 A 3000 K w faswfra wifsm =0 2ril 7 (a4
area at 3000 K ? (The emissivity of alloy is | F IcEstRdl 0.5 € Al WLIEA- Aeesd A
0.5 and the Stefan-Boltzmann constant is | 567%x10 8Wm 2K 1%) :
5.67x10"8 W m~2K™ 1) |
|
(1) about 90 W | (1) W90 W
l Tl - “
= xRz 0 ’
(2) about 100 W 3 | (2) @I 100 W ( il
. o8 | +
(3) about 60 W F T i (3) T 60 W P—
= N PR
\ (4) about 70 W = | (4) THT70W
O % I
82. A 10 m cord of negligible mass is wound ]! 82. 20 kg wegHM dAT 10 cm o 96l T T
round the rim of a flywheel of mass 20 kg i (FARERIA) %Wﬁm@mmﬁmm
and radius 10 cm. The flywheel is mounted | el T U T R 1 ASRl T Afas 18 W
on a horizontal axle with frictionless bearings. | wyuRfed o1 W g1 71 fa3 § S9id ER
A steady pull of 50 N is applied on the cord | 50 N 1 T I o W H1 Giwd & oy
as shown in figure. The angular acceleration | A H T S ¥ 1 =eh 1 S0 O 9
of the wheel and work done by the pull, when | T &F 3 m Ger W 9 g fhan T e s
3 m of the cord is unwound, are respectively : | £
o : I
!
C=Tx= YF |
'i O
Lxxior > 1o x5% |
Je 0T & |
Lx2oxR = tax §= ll
| | v
50 N
2N ixm[o\; §2 II 50 N (%
(1) 5052 150] | (1) 50s72,150]
| |
(2) 100 s~2, 500 ] | (2) 100 s72 500 ]
A
LT LI |
(3) 50572500 ] = ’—-I | (3) 50s2500]
(4) 100 s72 150 ] =3 = (4) 10072 150 ]

EI%EI

_%WH\@: Yy



83.

84.

Which one of the following statements is

NOT correct with regard to the National

Rescarch Foundation ?

(1) It will be governed by the Ministry of
Science and Technology, Government
of India

2) It will function to recognize
outstanding rescarch and progress

(3) It is for catalysing quality academic
research in all fields

(4)  Itis for developing a robust ecosystem

of research with the rapid changes

occurring in the world
8

Which one of the following is proposed to be

created for providing a platform for the free

—

exchange of ideas on the use of technology

to enhance learning, assessment, planning

administration etc. both in school and higher

e

education ?

(1) National Institute of Educational
Planning and Administration

(2) National Educational Technology
Forum

(3) Central Institute of Educational
Technology

(4) National Institute of Educational

['echnology

EzeE
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83. WA SAHAIA FIURYA (VA A0 v, g
o fefefaa wudl 8 2 89w v g0 55 5

84.

(1)

(4)

Ae {93t ae Menfiewl S g ey,
a1 onfae #om |

a7 P AHIA SN 3TF 9Ifa ) g

% fequ Frdvia amm |
Tz A1 A1 | EarE Adetad (A

AEIEA & fau @8 2

g 9 it B 7R am ufad & e
FTHUM 1 U qgg TiifrafaF 93 fasfam
F & fem 2

feremerdl va Seacr foisn 21 a3 § foeo, goaia,
s, wemeA sufe o denfret & 39gm @ fa=mi
F qF AR e F fer frafafaq 9 1 faan
w11fad & W W 8 7

(1)

R2



85. “Astudentisable to calibrate a spectrometer” | 85.

which one of the following domain could best |

describe this statement ?
1) Psychomotor domain

|
|
|
|
l
m Application domain l
|
|
|
|
|
|
!

(3) Affective domain

(4) Evaluation domain

86. Which of the following are usually the aim

of a science course ?

-

) Developing an understanding of
scientific terminology

\"(6) Developing open-mindedness

(c) Providing relevant foundation for
higher studies

)Q boundaries of laws

|
|
)
|
(d) Restricting within the disciplinary I
I
|
A (@) (b) and (9 }
(2) All four

(3) (a) and (b)

(4) (), () and (d)

o0
PGT-PHY-2023 g% 39

86.

“onrd farendl fadl Syaendies 1 oifua (Ffeme)
&E o gam 2’ e &y frafafea 2w
(warE- &) | A forae e 8 2

(1) HRSHHERT (FAYN) S
(2) STFER (TEAHTE) S
(3) &S S

(4) HeAiFA A

frefafed 3 @ #9-9 fFH fagm qemwe &
e WHTE: oid © 2

(a) A TEE wi wHe w1 faeE

b) G o=l w1 fawm

(c) =R WA & fore g 3muR weH
FHE

(d) froml # smEens et ¥ o
gfasfad

1) (@), () 3 (o)
2) uft =R
(3) (a) 3 (b)

(4)  (b), (o) 3R (d)

R2



87.

agenda of which of the following, ?

88.

Learning, without Burden, 1992

Suslainable

Development

Agenda’s SDG-4

National Curriculum Framework-2005

(b) and (¢)
Only (b)
Only (a)

(a) and (b)

Match the Table-(I) with Table-(11) and

choose the correct option using the code given

2030

below the table.
Table-I Table-I1
(% of GDP used
on Research and
Innovation (Country)
mvestment as per
NEP 2020)
(A) 42% (p) |USA
(B) 4.3% (q) |South Korea
Ol 5 8% ——1(r) [India
) 0.69% (s) [1srael
Code :
(A) (B) (€) (D)
1 ( @ @O 6
2) (@ (5 (P (r)
3 () (@ 6 (P
(1) () (p) ) (r)
gra

PGT-PHY-2023 2k

|

I
|
|
|
|
|
|
?
|
!
!
|
|
|
|
|
|
!
}
|
!
!
|
l
I
|
|
!
!
!
|
!
!
|
|
|
|
!
!
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The development of NEP-2020 includes the | 87.

88.

et fnen =i 2020 %1 foerr fFfafes 4 4
o/t 1 1 W T 37

s faeemse &4 (fam =& = wign)

(a)

(b)

()

1992

Taa fasm Tsiel 2030 1 SDG-4

T arEEEl #2005

(b) ¥ ()
Fad (b)
Had (a)
(a) S (b)

geit-1 1 ge-11 F e gaferd & it 5
1 fedl T e R errd | FE faswed 3

Teit-1 wgeit-11
(gt fonen ifd
2020 & 3ER
ST SR FAER H (@)
1. €1.91. 1 wfaee
frawn)
(A) 4.2% (p) [wigaa = AR |
(B) 4.3% (q) |afemor e
Q) 2.8% (r) |vma I
(D) 0.69% (s) |zemmga
C
(A) (B) (€) (D)
@ @ O
2 (@ ) P O
@) M @ 6 @
@ ) P @ 0

R2



9. The National Education Policy 2020 | 89, el &b WIHIER 31 el Hiatam & wqwEi &

recommends the Continuous Professional | faun et fwien Aifa 2020 gm0 [99 =naafe
Development programs for the school | fAehtd h1dshH 1 Y f6E 9 | #0)
principals and the school complex leaders for | ??

(1) eireteig st #3sWe (weE=E) F v
anenfd 150 s e #Afvs wfa fHad &
FEHH |

(1) 150 hours or more every three years
covering leadership and management

skills

(2) ety i FAsHe (WERM) HRE F
wy-wiy favaas @R foeoremes de
25 52 Fera 3fies yid B:ATel & HTHH |

(2) 25 hours or more every six-months
covering leadership and management

skills as well as content and pedagogy

(3) e elrewiy 3T HTsne (W) FRI
amenf 50 21ean offus e ufd a9 &
ST |

%(’%2 50 hours or more every year covering
>~ leadership and management skills only

@) ciewiy ot S (FEEA) SIvE S
iy-Try fawgesg iR foeonme Get
50 52 31yal Sfee idad % HEEA |

(4) 50 hours or more every year covering
leadership and management skills as
well as content and pedagogy

90. Tdterw & it foreht e & for wivea- fassfa
% Gi=d (TEifed 1) R Hufed &3 &
fou fafafea 0 @ foaas swam fe s 9@
??

90. Which one of the following could be used for
drawing and storing a stress-strain curve for

a material under test ?

_—

(1) A telescope (1) T& T (Terapig)

(2) A laser (2) TH AR

(3) U fefsea Fwu

(3) A digital camera

\(—1) A melallurgical microscope (4) TH HGHH (Heafsna) [eowi

EEEE
PGT-PHY- 5%
T-PHY-2023 3¢ 41 R2



’1. Which one of the following statements boest ' 91. faofatma w90 9 1 F19 @1 vF 2 g
describes the limitation of eBooks ? (eBooks) &1 HTHI 1 qATAH A0 FTA] 2
oy S

. (1)  These are flexible. (1) A AT 2l 7
(2) 3% 3T H @ F fern F2 A
FEIIT F AFIAFA 2l 7

\/{2) These require certain software and

hardware to be installed.

(3) q FaA G UHA FA F {0 T 7

(3) These are time-saving versions for

gathering information only.

(4) 3 faenfeldi % a1 97 & A15 1 FH 3
arefl 2Tl @ |

(4) These ameliorate the burden of

students’ school bag.

R & aewm F egeta 1 frefafad |
g ST o1 SqAm faRE S @ 2

-
™

92.  Which of the following assumptions are used
in the derivation of Bernoulli’s equaltinn ?
L -

(a) fervae

" \/@) Steady flow

(b) Compressible fluids
Ane—

(b) Eifea T gad

No losses from the fluid friction (c) =9 o | 2 &fq T e

| /\/'(f”)

(1) (a) and (c) (1) (a) 3 ()
"

(2)  All three

() () SR (b) ﬂr),\

4) (b 3T (¢)

(3) (a) and (b)

. m— i e e o —— —— T — T — —— T — . — T ———— i i it
. — ——— i it i S

(4) (b) and (¢)

E =Y
N

DD
PGT-PHY-2023 ﬁ?&



93.

94.

PGT-PHY-2023 3¢

~1)

In case of electrostatic shielding of a cavity,

following two statements are given :

S, Atany point inside the cavity, electric
field 1s zero,

S,: At all points inside the cavity, the

potential is same.

’

Which of the following is correct ?

Both §; and S, are true and S, is the

cause of S,.

(2)

Both S, and S, are correct but S, is not
the cause of S,.

S, is true but S, is false.

Botl and S, are false.

I
!
|
!
|
!
!
l
|
|
|
!
!
|
!
!
|
|
|
|
|
An air-filled parallel plate capacitor of plate i
area 2 cm” and plate separation 4 mm has !
capacitance C. It is filled with two slabs of
same area but thickness 1 mm and 3 mm of |

dielectric constants K and 3 K, respectively. |

Now its capacitance changes to C'. The ratio |

s

C= Cof 2 215 ]
Ci\ Lf)q[o"?i

(4) 6K

|
!
|
|
!
!
!
!
!
I

EFRE

93.

94.

fodl fromaga 1 ufefaa nfes & wsm
frfafad 21 #u= fea m 2

1t T\IfEEFI%E i el o fag o, faega w13
JATAR |

S,: Tfew & Wi Bl faga w fava ame
AT

fofafEa 4 9 #F T & 8 2

S, AS, TH & HA & qAS), S, F H
2l

(1

S, AUNS, S & T & T Sy, S, F F
T

2

(3) S, W T TS, A I

S, TS, T & IFEA E |

gl &FFA 2 cm? 3R JYFA 4 mm F w1
AY-gfta TER g i & wifEn C €
38 9 &9%A 6t 1 mm 99 3 mm HEE & <
Teeh Fo e qUagdis FaW: K 3iR3 K E | 90
Wl R | 3 TEE AR C & W ¥ A

AP
S ok oh

L5

L
\ <P
(1) 2K "‘Li-——
2) K
) “ 6
3) 9K 2
@4) 6K
1
= Rt M
0 Cap = Jr4AR



95.

Which one of the following hgures correctly | 95.

shows the varnation of electric pnlvnlial V

Q ! ,
(in units of 4 M ) and electric field E )

Q 2

' itsof 7 M for a point charge
(In units o e ) for a poi th-hi, Q
with distance r ?

E||EV

ar

%
(1 \

O r—p

E

ar L
(2) \Y

0S40
PGT-PHY-2023 7
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9 o T e A A W T R

Q
T Q ¥ forw, de A V (oo™

’ Q -2 ;
ek H) Ao e A B g ™ H A

qﬂr%muuﬂﬁﬁwmﬁm%?

A

or

r >

or

S{} 0 R2



96. Lel there be a Gaussian surface S

that has
some charges inside and some outside. Which

| 96. forell M T S % W @i A FH A
| ¥ Frfafad e 4 @ %6 w o a2

one of the following statements Ib- true ? I
(1) The electric field outside the qurface S % (1) T8 S a fagm@ &3 q= & +fim =i
V" s due to all the charges, both outside I e SH1 & AT & HRO Bl B |
and inside S. l
(2) The electric field outside the surface S | (2) TS SH qE T B qy0ide ~ Ginsicde
depends on Youtside ~ Yinside: W ﬁ"-:ﬂ F T .
(Symbols carry their usual meanings) (wditenl & 3ok | A4 1)
(3) The electric field outside the surface S (3) U= S A fogd &7 g3 o it e
\fo is due to charges inside the surface. F FRU BB
(4) The electric field outside the surface S (4) TS SH el foRyd & O F AR A
W3 is due to charges outside the surface. % SO Bl & |
97. The electric field components in the figure | 97. foa ° WA IO Fee x- Ay & uftd: far
shown is non-uniform and given by pxﬁ’ &3 &1 ITHHH HTHh p\f} Ffem ™ el 0.1 m
along x-axis only. The flux through the e cube S ATl U 9 BT TR aTell Felerd T o
of edge 0.1 m is about :
(p=1000NC 'm~V/?) — (p=1000 N C~'m~1/2)
y — y
A e A
(m) o]
H C H C
D E —) D =
—) E F E F
1 lo. 02 . 0. 02 . .
(m) m)
A B I A )
z (m) E= CX)R‘_ q)L i z (m)
o ;
(1) 45N m2C :@@(o.gmpﬁqo.u (1) 45N m2C-!
(2) 32Nm2C~! (2) 32Nm2C"!
" X—'L L
3) 0 = b@)("'g “P GW KO‘U (3) 0
4) 13Nm>C! | 4 13Nm2C-1
B8 E u® ﬁ PUx |
PGT-PHY-2023 é%
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98. For a battery consider the following tWo© i

statements : i

5 Potential difference (V) across the !

terminals of a battery may either be i

V= t—i ‘IY'_ equal to or less than the emf (E) of the j

balter}i/.. |

S,: During discharge of a battery, potential }

difference (V) across two terminals of i

2 w1 I=F —ir: I emtema]

the battery is V LE ir; s th = |

resistance of the battery and 115 the !

current through it. |

!

Using the code given below, select the correct |

answer. [

(1) S;istrue bu%is false. !

f{m\(.?) S, is false but S, is true. |

|

(3) S, and 5; both are correct and S, is l

correct explanation of 5. |

(4) S;and 5, both are correct but S, is not |

corred(] explanation of S;. E

!

99. Who among the following scientists named :

the electric charges as ‘positive’ and ;

‘negative’ ? |

{

(1) Benjamin Franklin |

!

(2) James Maxwell |

|

(3) Robert A. Millikan |

(4) Charles Coulomb |
EgEE
PGT-PHY-2023 @%
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98.

99.

ﬁ;ﬁ}ﬁzﬁﬁ[ﬁﬁﬂﬁqﬁf@aamﬁmh’a’n
Fifed :
ﬁﬂ%azﬁéﬁzﬁ:hﬁﬁ—?ﬁuﬁﬁ: favarm

S ! . F 4

] (V),E'H‘;Femf(E)ﬂmmem%
1 %4 B T §

8, ﬁ?ﬂ’trazﬁ%ﬁfam{'—l%ﬁw:aﬂ%ﬁm

i zﬁﬁ%qﬁﬁ:ﬁruﬁmvﬂ—ir%‘m%;
réﬁwaﬁﬁﬁgﬁﬂﬂ%amimm
21 @l Hr

ﬂ%ﬁan&waﬂwﬁﬂaﬂuﬁmgﬁm

(1) S, T & TS, AHA|

(2) S, 3T § WY S, FH

3) S,amszﬁﬁﬂﬁ‘é‘afﬂsz,aafmﬁ
AT FAI |

) S,Hmszéﬁﬁﬁ%msz,slﬁaﬁ
T TE HA 2

freAfefiEa St & 9 feea faga s #i
‘s e ‘o A fea ?

(1) AT ehfer
(2) S HEHH
(3) T U, fafersA
(4) ed Fer

R2




o, For the circuit shown below, match List-1 and |
U

List-11 when S is switched off.

100. 9 =wid T ufrgy ¥ few, @ S 9% @ @

Tit-1 Ao -1 1 gafer Hif |

List-1 P\/,\
(A) Current i, (p)
(B) Current i, (q)

-

(C) Net resistance  (r)
in the circuit :
(A) (B) (Q)
M @ @ O
V2 @ @ (p)
G P O @
@ @O @® @

101. A straight copper wire of 100 g and length
2.0 m carries a current of 1.5 A through il.
The minimum magnetic field that needs to
be applied to keep the wire suspended in

mid-air is about :

for9

] —
(1) 025T Il
(2)  zero —_
B) 039T lﬁ
033 T
E3xE
PaT. g%
T-PHY.2023 ¢

-

List-11

same

Q—)- . P )QH_Q_Q
!

will increase

will decrease

y 33

—

Y L

a8

T

7

¥

B)

1
will remain the !

!

47

101.

e - 1
(A) HRT,

(B) HWIi,
(C) uftug ¥ e
P IGEL
(A) (B)

(1) @ ()
2 @ O
@ P O
@ @ (p

100 g @1 2.0 m &4 HR & fored WY qR H
15 A 411 Fafed & W@ ¥ 1 R R 9y F g

TEFA WH F U e gue & % ae

Trefafea § fhas freean £
SN
(1) 025T R
E )?J@(
2) 3
(3) 039T \L
0 5
4) 0337 :



102. A resistor havi ing 3  resistance is connected |
toa 3V battery and an ammeter. Considering |
the ammeter as a galvanomeler having |
resistance 60 0 with a shunt having, l} 02 §); |

102, va 3 () ufady @ Sfaaus w536 3y a g,
s ues e & | HAfsE & o 5
o0 O wfatiy &1 HearHey & my g,
0.02 Q& 372 & Y T TR TR T 1 gy

the current in tho circuit would be : I (- 1 B
iy 'ﬂjg e, = CoxloR L HOD
s 1) 0993 A {3 Goﬁm_%) 0.993 A
| e
) 1.0A 2 = %ﬂ]ﬂ, 2) 1.0A y= TF
c.':ﬂ—.
3)  0.047 7 114 % 7
‘ (3) A :"j} 3) 0047A  T= X T e )
2,
@ 0.050 A \ - j' (4)  0.050 A IGL:; +3
| P8

103. Which one of the fol]owing could be a ]

paramagnetic substance ? l
Bis
2

(1) Lead '—{J:’\"l;’r I!
+3~4>

,103. frafafed § @ $9 @ T sEHgaEE W@ §

Gohell & ?
1) s D%

(2) Gadolinium _‘k __,’“}\ (2) Treifafam

(3) Silicon e\; (o
(4) Oxygen
)O V = .

|
l
|
f
o T =5

g 33 }

104. Two batteries having non-zero emf I
E; and E, have internal resistances r; and r, ‘
respectively. They are connected in parallel. ]
Given E, < E;. How about the equivalent ,
emf (E) of the combination ? |

|

l

|

|

l

|

!

|

— (1) E=<E,
>0 (2) Eis independent of r; and r,

— () E<E

) (4) E =E+E,
EgE 19°,
PGT-PHY-2023 é& g 48

104. aﬁzﬁmﬁ#memfﬁ AAE, B, & 31l
Wfa0e L vy AT, § a’r—haﬁmmﬂ
wafsm farn wmn &1 e mn % % E, < E, |
HANA % o emf (E) ¥ waf § 71 w1 £2

n -

T g

(1) E<E,

(2)  E ry 9 r, W AR 98w

() E<E, '
[y ¥
(4) E =E +E, 024 xM
Q5 QY
anae X —— R2
7 |18
\b 2 ¥




Which one of the tallow e oran. |
b W, Braphs Corpectiy | 105, 1 foen gra) o 0 4% m vs fed am Tae
o s arud oulsgdg

long strang bt wyre

I shows the magnetic fyel

oA fasgwn s gfrsan (B W
| a current carrving

lar of a | P (s oy o Faatea ) 8 s ol ATEd Ak
A T“ section of radgy R, urrent | GEIE AR Talbe ) Gl 4
anitormly distributed) i
'I |
A M ! )
I
/ |
i‘/ |
(1) // | i
/ |
e s
() R T —p i O li ) N
|
{
A ‘
| *
| |
|
‘ '| |
) | | ;
O R r_: ! O R .
!
: |
B | B
!
: l l ’/' 5 .
O R r—» | O R r-—»
! | o]
. |
’ 4
) | )
|
i J
O R r—» } O T
I

00|
PGT-PHY-2023 é% 2



106. Which of the following could be

origin(s) of magnetism ?
gin(s) of mag

(1)  Polar nature of molecules

(2) Atomic currents as well as electron’s

intrinsic spin

(3)  Atomic currents only

(4)  Electron's intrinsic spin only

107. The graph shows the variation of current 1
with the frequency (w) in an LCR circuit.

What is the bandwidth ?

(4) ~02 rad/s

108. An 100 W incandescent bulb 1s conne

an ac source that can give 311V peak voltage
rms current through the bulb

LT
Tew = b =

supply. The

15

(1) 065 A
2) 09A
3) 034 A
(4) 045 A

O340
PGT-PHY-2023 g%

?2. T K
T i

| . QIT}?‘K

1 1.0 }
M1 5 g
0.5 1 3
ol 05 10 15 20 [
M ¢ 5 (rad/s)
1 ~ (.6 rad/s
(1) rad/s &c -
(2) ~1.2rad/s ) 9
(3) ~04 rad/s — ]
-_J__.

cled to

the primary | 106, fefafa § 4 FH gEEA F YA ]E

71 Tl & 7
(1) AU F e
(2) e MR A4 FerE T A9

(3) g S
(4) e e & T = (o)

a7 i fepedt LCR WRad H M (1) 1 S

|
j
|
!
.'
|
| 107.
! S ey feperco 29 T B | S-S
i 27
|
| [ 1.0
i 1
i 0.5
VAN
| 0 05 10 15 20
w —r

i (rad/s)
i (1) ~ 0.6 rad/s
% (2) ~12rad/s
| (3) ~ 04 rad/s
: (4) ~02rad/s
!
!108. 100 W &1 T&F 98I ded U T8 TH (ac) ?
i 3 5[ & 9 311 V F fore dreed #1 myfd
| Hadl ¥ gcd U YaIfed &M 9ol rms R &1
! e (P:%’L: -:[’LK
| (1) 0.65 A .
! 2) 09 A szgr
| (3) 034 A
| \$

4) 045 A
| v= TR
5~ 1o 35 f

2 3 = T

|2



109. An infrared radiation of 100 GHz fre ‘quency | 109. 100 GHz #19f¥ %1 ek et fafero gar

trav Il Y \
is hrr:d:.untn}mtn free sp(ug “]““P the | o fewm & srfew fa o @1 &1 foweam s
-dire . A e :
A _l__tim P 11 particular point in space | |qA7a & fawdt fag W ferega & y—ﬁ'-‘?Tl H 2
@, » ole
ate ¢ electric figld is along y-axis | 391 9fH 9.3 V/m B 34 fag W gEam
having a magnitude of 93 V/m, The | AAT
npnclu fie ld at this point 1.; I
|
!
mn T N .
3x10 8k 7 - | 1) —31x1078k T
e |
B
- [ (9 A . ! "
((J +3.1x10 ¥k 1) B- 92 1 (2 431x10° 8%k T
T T~ 3xle” |
) !
3) 493k T 0 j | W \5 9 i B) 493k T
\ () 4.3,5?1)[1 81 7 | @ 431x10°85 T
!
rh 1
110 Which of the following phenomena plays the I 110. Tr=fafaa gftgeTsi § 9 #99 Wwﬁm
role of ine Thia in physical sense ? i IR SR
b G LD |
~
{ s ;
(1)  Force between two current carrying i (1) 1 YETR 9w & 99 96
conductors i
I

(2) =i R 3 E-Tm

(2)  Both mutual and self-induction

(3) Fae 3= R

(3)  Mutual induction only

i |

l !

H

!

)

)|

>4 I . -

— (4)  Self-induction only | (4) SHad F-W

EgxE
_PGT-pHY-chzsé& | 51 Ro




‘

111. Electric currents I, and I, are set in two
concentric circular coils in a plane as shown.
The radii of two coils are 1 ¢cm and 100 cm

!

l

l

The mutual inductance of the l

arrangement is about (u,=4mwx 10 7T m/A) : ll
I

|

|

|

|

|

respectively,

Mot pd.

forg i weit spun {1 ae 1 Tl A s
e graeil 1 1, ad1 1, TR P 1 2
aMl q»’gﬁr’ﬂ Eal forml w9 | u"n FT'*AI'.I l!]{lim
¥ =g fa=mg &1 fagead s=01=1 9701 2 .
{p(,=4wxl()'7'f m/A) :

111.

Iz_ﬂ 12=5A
C oy Can®
- (1) 2x10-10H M’“yuﬂﬂ"’ MM ;A, (1) 2x10"1°H
& !
(2) 2x10-%H + | 2) 2x10°4H
= Ymxs' x 1 ><5,11Y\
3) 2x10"MH ‘QTK | (3) 2x10-MH
|
4) 1x10 My — Lf‘ﬁylﬁ\x' !l (4) 1x10-MH
- f'"“‘\, R
"“ Q X \¢* [5;1

\jq_

112. Visible light of 5000 A with an energy flux of ll
30 W/cm2 falls on a perfectly absorbing
surface of 20 cm? at normal incidence. What

is the total momentum delwered to the

P= I

surface in one hour ?

!
|
|
|
|
l

(1) 3.6x10"3kgms~! Al
(2) 72x10"3kgms~!
. Y X‘Q/\ISZF
|
(3) 3.6x10 4kgms~! |
|
(4) 72x10 1kgms~! ”

[=15: (s]
GT-PHY-2023 é% 52

112, S % 30 W/cm? &1 TF 5000 A 1 299
JEHRI 20 cm? i fodl smesl sravigs Tag w@
HAfyerarad smafad e 81 U "u § gag F
Yo el HaT H F qH B 2

36x10°3 kg ms~!

(2) 72x1073kgms!
(3) 3.6x10"*kgms~!
(4) 72x10"1kgms !

R2



113. The distance for which the diffraction | 113. 5000 A aimesAd F1 T A9l 3 mum F ZFF F
spreading may be ignored for rays of 5000 A

| e e fasm 20 3% faaa fa=arm 1 =0
\\’a\foltﬂ-nglh and the apt’rture 3 mm is about : 1' 'E}ﬁ =1 _:F;FH-:I 7.:{ 7
(1) 3.0m | A) 30m
I
@ 1wm o AD |  aen
oSS = \V—j_j:" 3‘%1 o (3 18m
%) 55m SHeoxlo s 4) 55m

2 '
S
114. An object X is placed in air in front of a | 114,

convex refracting surface. Following four

sketches are drawn for depicting the

frdl fam X 1 9@ § U&F 39 F9aaEd qae
F TR T T 2 29 frafa = evim # A
M 91 ANE =" T E | (WA & SAE G

{ i
situation. (symbols carry their usual | ATTI)
meanings) ;
i
ny/ ng/
1/ Ny i 1/ T
\/4a) % (@
N
‘ Ny > 1Ny
np/np
(b) " (b) .
X X \
’>a Ng =1y ; Ny = 1m
|
nl\NQ | n1\112
© — | g S
X 30 | X |
N2 <N a ny<m
i
T | m e
d — | dy -2
@ —— @ N
np=>n nq>n,

Which of these could be correct sketches ?
(1) (@) and (c) only
() (a), (b) and (d)

4<—0(3) (a) only

(4)  (a) and (b) only

EzzE
PGT-PHY-2023 ﬁ

T A FA F A T w ey $0
(1) e (a) 3R (c)

(2)  (a), (b) 3R (d)

(3) & (a)

(4) T (a) 3R (b)

53 R2



crh -

115. A short object of length L is placed along the | 115.
—

116.

‘ \T\\\J\

[°]
A

principal axis of a concave mirror slightly |
away from the focus of the mirror (u — f<<f).

What will be the length of the image ?

(symbols ca Ty

(1)

A point light source O is placed between two
plane mirrors A and B at a distance 0.2 x from
mirror A, as shown. We see multiple images
of light source in both the mirrors. How far

|
l
their usual meanings) =
|
|

behind the_mirror A are the nearest three
images of the source in that mirror ?

A

e

0.2x
(
-(——P

O+

/\ﬂ

[Op>40!
PGT-PHY-2023 5%

o
ANRRR RN

it

S 7IVT77777 =

7

Y }w.@-’\

0.2x, 0.8x, 1.4x QA

(1)
()
(3)
(4)

0.2x, 1.8x, 2.2x
0.2%, 1.8, 3%
0.2x, 2.2x, 2.4x

e . —— ————. ——1 ——— — o — ——

54

116.

N

fere e SO F A A F F vy,
am@ﬁiﬁ“meﬁmmW”"
u-f<<fl wfafaea &1 &ar #0 @ 2

(et o w9 €)

(1)

)

<) guae <qu A €1 B % AL T A H 02,
T W foa § S9id {ER T fog Y19 €[ 0
@ T S @ SUU H §H YR i F
wiafer <@d § 1 9 A F 9o 290 A § femi
) I i Forerees it = Fn Feeif 22

B
0.2 x
(
L]
@)
“—— X —>»

0.2x, 0.8x, 1.4x
0.2x, 1.8x, 2.2x
0.2x,.
0.2x; 22y, 2.4x

>

AN AN

(
(
(3)
(4)

[
—

1.8x, 3x

R2



y

7 Which one of the I'ollowing optical ele
i

mtllllS\117_ﬁﬂmﬁWﬁWWﬂﬂmmW ;

can change the wavefront of a plane wave ' EAE T g 2 e + wfrafdd
into a spherical wavefront ? _ |

(1) A plane con_\r‘g{}ens
(2) A concave mirror

(4) A plane mirror

|

|

=

{3) A prism !
l!

|

l

|

;18. The de Broglie wavelengths of an electron, a | 118. foet seragm, 9em, =2iA agl FAHI- =
proton, a neutron, and an alpha-particle are | - grelt qied S A, Ap ;}n GRIPWES i::i- =fqd
represented as A, A, A, and A respectively. | o ¥ 1 Afe 27 9 FHO 1 A SHed JHE

If all these particles have same kinetic B @ frefafgs o= § 4 34 91 0 I
energies, then which one of the following

relations is correct ? \ |
1= -

@ N=Np=hgzhe (] d\\); " (D A=A,=N,=A,
YW\
(3) An= A>ASA, .

(B) A= )\P>)\e>?\n
V{'q) )\u{)\p 2 A <A A 2 o4 A

(]) }‘u>}\p = hn(}‘u

e — i ——

(4)  ASA, = NS,

|
!

|,

|

|

119. In a nuclear reactor, the core that contains | 119. &l Tiwwa fAw ¥ wre, foad

s

|

|

|

the suitably fabricated fuel and moderator i | Hfe=af@ g4 den Heew B 2, fee woeds Es|

surrounded by a reflector to reduce : o em e 39 .

(I)  the loss of neutrons in the control rods

(1) T i A =i 6 affa § = o 3

(2)  the absorption of two neutrons by a 2 e o= faafrea @ oy e T gr
single fissionable nucleus T =g F ragim § At Bl 7
B) the non-fissioning absorption of | (3) Ta@EvEd 3 = un T 2 AR e T C e )
neutrons o It 3Tt ¥
@) the leakage of neutron | (4) I % Fama o w5t et Tl
p [E R
SPHY. 2003 20 e =

e



120, Tz g & fem J I s
eafsta fafam f&aa @as O 7Fd ¢

1 b " T ™~
20. The transition shown below in an hydrogen

a
lom pn es rise Lo a radiation thal halnnfs

to :
’’’’ — n=3 — - i)
f |
|
T n=2 — —Y ——n=2
n=1 n=1
(1) Paschen series L’j @ (1) 9=d o7l
(2) Brackett series (2) FF2 go1
(3) Lyman series (3) A oLl
TT————_(4) Balmer series (4) AT g0
121. The n'" state energy of a hydrogen atom 1s | 121. HEEAE R LI % nd = OF1 FAl

given by E,, = —

their usual meanings).
all H-atoms be in the ground state and a

radiation having energy equal to (E, -
In this situation which of the

falls_%il.

1 me‘1

2
8¢

—_—

following statements could be true ?

(a)

wi(b)

> (9
—Ad)

1)
(2)
(3)
(4)

—_—

The radiation will not be absorbed at

all.

Some of the atoms will move Lo the first

excited slate.
All atoms will be excited to n=

No atoms will make a transition ton=

stale.

(c) and (d) only
(c) only

(a) and (d) only
(b) and (d) only

EgE
PGT-PHY-2023 :%%,

——5 (symbols carry
2,2 (sy

Let in an ensemble,

Ey)

2 slate.

L

E

n

(a)

’3

|
L, ©
-

M

56

{
I
|
!
I
1
}
|
l
|
|
|
|
l
|
|
|
|
|
|
I w4 ®1) Bl T
|
l
|
l
|
|
|
|
|
|
|
|
|
|
|

1 me' T -

RE 0 n l]

o & fedl wge 9 A

1-1—Wqﬁmamﬁ%#nwm(ug--- E)
Tt a1 uas fafetor smafad e 1 3] 9 |
fyfafaa Fubi § § 14 4 Tl 8 96d @ /

7% fafewn facgpa s s1avnfaa =& &

FO WY UYH IAfed Aae &l 1 M
Exull

Gl G| = 2 Srereen | e & S |
HTE ol T n =3 3Tl qeh HhaU el
HAM |

et (c) 3 (d)

Haet (c)

FHact (a) 3R (d)

*ad (b) 3R (d)

R2



i A

122. In

photo-electric eoffe

increasing the Irequency of the light that

on

P ?,’I'

an

R4
0

experiment oy studying  the

cl, what is the effoct ol

alls

the photosensiti i
photosensitive plate, provided the

intensity of light remains the same ?

(1

The stopping potential, photo-electric
current change however saturation
current remain the same.

Neither of the stopping potential,
photo-electric current and saturation
current change.

The stopping potential, photoelectric
current and saturation current all
change.

The stopping potential and saturation
current change but the photoelectric

———
current does not change.

123. The energy required to ionize an alom in its

ground slate 1s

(1

124.

: i 23
ordinary sodium ( ”Na)

A beam of

the energy difference between the most
energetic electron and the least
energetic electron.

same for all atomic electron.

the energy required to remove the most
energetic electron.

the energy required to remove the least

energetic electron.

deulrons 18 bombarded on

atoms. Which one

of the following could be a product together

with a neutron ?

1) HMg
@ BN D
- 2
(3) Al D
£, NS
(4)  {iNa l I
@grE
PGT-PHY-2023 E%

|
|
|
1
|
|

!
1
|
|
I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
;
|
|
|
|
|
|
|
!
|
|
'

Al
F
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123.

124.

122, eIl 9% YA ) 2men F o faad) yem i,

Y19l HeE] w2 97 A W ) A e
T A G A #, Al 9 ) A e

]

(1)

(2)

(3)

(4)

€7

frddl fava =i azE am it
214 ¥ WA W@ ar wEE A e @)

101 favm, wem Fega um Sim g ae
T 7 FHE ol wiaEfdd 7@ e |

e fava, wewn a4 m HJgd gr
7o gftafda 2 71

fasdi fawa 2 wga v ufafdd 2 @
W WYl A7A U sTfrafda e 2

ferem e 4 fahdl WA &1 AEEIFA F
& fom sava® F

(1)

(2)
(3)

(4)

Hatfua el 9 3eAde adn fee e
A TeagH & A e F ST F HEE
T B

T gl & fer Tmm F 7
TEifuE F9 gl TeiaiA @l e o
fetam ST ATt Tt @l e § wgEd
B STl et Bl € |

U HfETH (§7Na) THUE W UE FEH

&1 U o9 WaIfTd F1 S # 2E F e A
1A IeqTE T B Fehell B2

My
N
2
11Na

R2



125. Starting from a sample of pure radioactive | 125, f&H 15 et 9@ A & U T‘T" aq AT
clement A, which one of the following, braphh

correctly shows the number of A atoms (

I
) |

with time t 7 (T is the half-life of olvment A I

|\

v

—+

@) t
NA A
% @) \
. o -
o T

Epr =
PGT-PHY-2023 ﬁ

]
B

i

I
I
I
I
|
|
|
|
|
|

58

F, 9 2 T U W G A AU 6T E
Y A WEMET F HEA (N ) F A a2 7
(T, T A &1 514319 2 1)

(1) - \
\

o 1 t
NA »~
(2)
R S ——
Q T {
N 1
(3)
0 T t
N, A
(4)
O 1 1
R2



126. In an unbiased P-n junction at 300 K :

127.

128,

s

VB i J‘B=6.712+ 0.9t+5

P Cae=10t4+9.28 +5.7¢

(1) the diffusion as well as drift currents
vanishes everywhere.

(2)  the diffusion and drift currents cancel
cach other.

(3)  the electric potential vanishes
everywhere,

(4)

the electric field vanishes everywhere,

The average energies of the “frece” electrons
in a sample of a metal at 0 K and 60 K are
Eyand B, respectively. The ratio Ey/E

6015 ¢
(1) <1

(2) infinite g Q‘EGO

3) >1 T

4) =1

(
- ok

The displacement x (in m) of four objects A,
B, C and D with time t (in s) are given by
following equations :

. = - (
oo - 012 3 — —
ALxa=27t498458 = i

P P Ap=08t+1.2024 7.7

Which of them is/are moving with uniform
acceleration ?

—

(I) B only
(2) BandC only
3) AandC only
4) Band D only
EE
PGT-PHY-2023 é%

!
|
|
|
|

|
i
|
|
!_
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
!
|
|
|
|

|
!
|
\
I
|
l

99

126.

127.

128.

300 K W fadt 2mivg (unbiased) p-n Hf9 H -

(1) = Tl R foarm qon svere uwE <E

& I B

(2) fomm AR sAverE URE UE gET i A
F

(3) | R o fava g g 2

(4) =R vl W fermgd & v A 2

a@%mﬂﬁﬁokﬁmﬁwm‘%’sﬁa\gﬁi
F1 SEG FS FAM E A0 B ¥ 1 2w
Ey/ B €

1y <1
(2) ¥
3) >1
4) =1

RGEE A, B, C 3R D % 5w ¢ (s 8) % wm
fowm x (m %), Frafafas arfem o
T

A xpA=27t+9124 503
B:xg=67t240.9t+5

Cxe=10t4 49283 4+ 574

D:ap=08t+1.212477

TR F A S O T S i
¥?

(1) o B

(2) *ad B R C

(3) wEd A 3R C

(4) e B 3R D

R2



129,

130.

’ N‘)Kc‘i
Ims™

2 s

)cJ

- 917 When
measurement of_mass and speed of an |

object are 2% and 1% respectively, the

-

4 .

‘onsider i .
Consider the two statements given below :

percentage  errors in the

W ~ B S
percentage error in the measurement ol

the Kinetic energy of the object is 4%.

!

by 5 mass X Spu('d:_

5, 1s correct bul 53 1S nol correct.

S, is not correct while S, 1s correct.

(l) Both S, and 55 are correct and S, is the
B 2
correct explanation of S|
(4)  Both S p and S, are correct bul S, is not

the correct explanation of 5.

In relation A =B'CY, the quantity A, B and

. : ; . -1 2
C are expressed in units of N kg s% mus?;

: 2.1 “H -
and m-.s~ ', respectively. p and q are :
(1) 1 and 2 respectively

3
and g respectiv ulv

? Q

9.

1
— and — respectively
) g and g resp : P

o . m

| =1 ‘
and —— respectively P@_ .
3 | ) s

PGT-PHY-2023 mﬁ&f ‘37- )

I'he kinetic energy of the object is given |

|
]
|
\
|
|
{

f

!

|
|
H
|

i
P
1
|
|
1
I
|
|
|
!
|
|
|
!
I
I
|
g

i
|
.'
!
|

60 LP +0.é;.: |

| 129.

130.

“tgmet gk o L (qumsj

S, qfdfaﬁq"‘tfq'.-gé;aaqqﬂ 3 e & IR

3 wherera Ffeal HHA: 2% 1% E, A fy=
1 Tifast Feil & A H 4% F1 Ffe @ni

ﬁgaﬁnﬁﬁlmﬁl BT x 92 ] )

S5
S B

(1) S, & & g S, T T B

(2) S, |el & @ TR S, el ¥

3) S, 8fms, M @ WA € AN S, S, FH T
S Il € |

(4) S, ¥R S, AN & WE € W S, S, H T
SRS el HAA T |

ey A=B'CY A A, B 3 ¢ ufvrEl s

N kg '3 mus? S m2.s | Wi A Frefoa H

Gﬂ?ﬁﬁl pﬁl‘(q%qm:%:

'™ S = L'ms)l(m ;)“\

(1) 13’2
3 e L
5 5
2 1
@) g3
4 i & “l
(4) 5+

T 1?’ q_\
Qpr(Lf P’?’)—‘LFW
Pee B9



PART - VI

GENERAL ENGLISH
131. Fillin the blank in the following sentence with | 136. Choose the option mn which the fullmyiﬂ?‘,
the help of given options, | words/ phrases have been rearranged to form
The train was about to leave the station when | a correct sentence.
W _ there. l L.(A) people gave
~—(1) reached | @ (B) President
(2)  have reached | Q) him supporl
(3) had reached ! ) {{?) himv
(4)  would reach | @ (E) having elected
| » (1) (©) (B (A) D) (E)
| LA (E), (D) B)(A), ()
132. Choose the option in which the following | M3)  (A), (©), (B), (E), (D)
sentence has been changed into passive voice. | (4) (B), (D), (C), (E), (A)
His attitude vexes me sometimes. ! a
(1)  1am vexed at his attitude, l Directions for question number 137 a’_"d 113:8! :” .
JR) 1 am sometimes vexed at his attitude. | Fill in the blanks in t:;e’ j:ufj.'u_r;mrgt;-v,n? nces with the
(3) 1am vexed by his attitude. | help of options that follow each of them.

(4) 1am vexed by his attitude sometimes. | 137.

Directions for question number 133 to 135 :

Fill i the blank 1 each of the following sentences with
the lelp of given options.

138.
133. N_iin_as well as his friend Egr_n_c:sh o
coming to the party.
=~{1) were
(2) have been
@) i 139.
(4) are

134. Today, the need of common man

8
140.

l
|
l
|
|
|
I
|
I
I
I
I
|
I
|
|
l

Can you tell me how the accident _ ?
(1) came up

(2) came by

{3) came down

(4) came about

The witness will __ what I have said.
(1)  bear out

(2) bear with

(3) bear on

(4)  bear up

The troops were ordered to mobilise .

Choose the word which is nearly opposite in
meaning to the underlined word.

just bread and butter. (1) RRENR
[ s ~42) lineup
= (3) retreat
(4) dismiss

T

4) are He delivered the speech with great aplomb .
: o ' Which of the following words can correctl

135. Mrs. Kanwal is Principal of this ‘I replace the underlined word in the above

school. sentence ?
1)  the | (1) apprehension
(2)  no article l (2)  disquiet
@) | (3) diffidence
4) an I <{(4) confidence
E3zE
PGT-PHY-2023 E%
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R2



PART - VI
. GENERAL HINDI
mmldl_ﬁms%ﬁa-aﬁam: [ —_— nnﬁwﬂwqﬁ,,
%;gjiﬁiimﬁmwmaﬂmﬁﬁm (1) TS
klain ——) AR
§ T ST St ST oo WA B ) | Q) R
?ﬂﬁmq‘waﬁﬁﬁf%aﬁaﬁﬁm _(4) TR
b s M L il £ o e g T
fmﬁ'““'mwﬁﬁwmmﬁﬁﬁl 1 A
1 fj@ﬂ?ﬂﬂ@aﬂmmmﬁw%ﬁqq! "'"(‘2) qa-oIe ,
S ¥ | e v R e e T e S| TR-S <
| TE A e | (4) - fame
I
141. fres e F0 T3 Te iR T 147, ‘GwE § U 9R YRR g e’ % fou
@ |
BT ? | IR T
(1) ¥ agyEl & 1' 8 Waﬁ
(2) WS Iyfadl T
(3) wfes | 3=1fa 1 I &8 t”rE”%“”%"
148, freAfafed # =d # 3fe @
142, TS/ W HE0M 1 A T FE FTM T : ! 1) £l oA IR
(1) TERIMEI | TTHA
®(2) ifie T BT |Vﬁj e
LA3) T e | (4) =
4) frwgme }149 mﬁmﬁ'ﬂfﬂa‘mmg
143, o F TR W R FEn B FAE? | (2) i
A W e W | 5 o
(2) St | )
(3) #e Mipaled -
‘ |
(4) <A 0 Tﬁquﬁ%
144. ‘379 %1 g9’ ETEX 1 TAE Y ¢ - ; ) fafeer
(1) 9=l | (3) @S
(2) fagr =1 oA | (4) TEE
3) TE = |
(4) o =R { -000-

040
PGT-PHY-2023 g%

62



